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Introduction

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge O Level Physics
(5054), and to show how different levels of candidates’ performance relate to the subject’s curriculum and
assessment objectives.

In this booklet a range of candidate responses to questions in Papers 2 and 4 have been chosen as far as
possible to exemplify grades A, C and E. Each response is accompanied by a brief commentary explaining
the strengths and weaknesses of the answers. This booklet does not cover Paper 1 as it contains multiple-
choice questions where the mark scheme provides sufficient detail and the candidate answers do not
require examiner commentary to expand on how the marks were gained.

Grades are given to each answer in this booklet, however in the examination the whole candidate script is
graded on the overall mark awarded, not on each question. It is therefore possible that, for some questions,
lower grade candidate answers are awarded the same or similar marks to higher grade candidate answers.

For ease of reference the following format for each paper has been adopted:

C Mark scheme )

Example candidate
response

<

(Examiner comment}

An extract of the mark scheme used by examiners, is followed by examples of marked candidate responses,
each with an examiner comment on performance. Comments are given to indicate where and why marks
were awarded, and how additional marks could have been obtained. In this way, it is possible to understand
what candidates have done to gain their marks and what they still have to do to improve their grades.
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ssessment at a glance

Assessment at a glance

Paper 1: Multiple Choice

40 compulsory multiple-choice questions of the direct choice type. The questions involve four
response items.

40 miarks

Paper 2: Theory 1 hour 45 minutes ‘

This paper has two sections:
Section A has a small number of compulsory, structured questions of variable mark value. 45 marks
in total are available for this section.

Section B has three questions. Each question is worth 15 marks. Candidates muyet answer two
questions frorn this section.

There is no compulsory question on Section 25 of the syllabus (Electronic s s). Questions
set on topics within Section 25 appear only in Paper 2 and are always se@an alternative within a
question.

75 marks @ M

Paper 3: Practical Test 2 hours ‘ Papcr 4. Alternative to Practical 1 hour

This paper has two sections. wWitten paper of compulsory short-answer

Section A has three compulsory questions d structured questions designed to test

each carrying five marks and each of 20 QJ familiarity with laboratory practical procedures.
minutes duration. \

Section B has one question of 15 mark ‘&'
of one hour’s duration.
30 marks (@ 30 marks

N

>
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1 (a) (i)} D and either lorry accelerates (forward) or resultant force is forward B1]
(i) air resistance or (air) drag or friction (between tyres and road) B1]

(b} (i) 30000kg [B1]

(ii} (a=) F/m algebraic in any form or numerical [C1]

0.5(0) m/s* [A1]

(c} direction or velocity is changing or acceleration or force is sideways or towards centre
(of circle) B1]

[6]
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1 Fig. 1.1 shows a Io‘rry accelerating'in a straight line along a horizontal road.

Fig. 1.1

(a) The driving force on the lorry in the forward direction is D and the total backward force on the
lorry is B.

(i) State and explain whether D or Bis the larger force.

%&v-rﬁ@mb‘ﬂjﬂﬂraiimaﬂhﬁ?’ IS

(ii) Suggest one possible cause of the backwa;‘d force B.
M Fricsien. pvmesn Mhe read ond Mem s [1]
(b) The weight of the lorry is 300000N.
The gravitational field strength gis 10N/kg.

(i) Calculate the mass of the lorry.

mass = .....20.0= k [1]

I I O L T T T T TP T e}

WVieces - B S

(i) The resultant force on the lofis TRAU00 N, Calculate the acceleration of the lorry.
F s =
@, = __E - _‘:-f_-:’OQo

W Bon
T Accolerdidn g & prile acceleration = 0‘:31-0{@" 2]
F e

™

(c) Later, the lorryturis a corner at constant speed.

Explain why the lorry accelerates even though the speed is constant.

Sines. Yne valoah q&)%\mf ¢‘rur3=='='ﬁdu=+oc\-qr\3e?ﬁ
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(a) A well-reasoned explanation has been produced explaining why D is larger than B and the frictional force
has even been correctly describes as being between the road and the tyres, which was not essential but
shows understanding. (2/2)

(b) The formulae are both stated correctly in algebraic form before the insertion of numerical values and the
units are correct for both of the final answers. The detail given is often helpful to the examiners. (3/3)

(c) The candidate correctly states not only that the velocity changes when turning the corner but that this is
because the direction has changed, showing a good understanding of circular motion at this level. (1/1)

Total mark awarded = 6 out of 6
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1  Fig. 1.1 shows a lorry accelerating in a straight line along a horizontal road.

Fig. 1.1

(a) The driving force on the lorry in the forward direction is D and the total backward force on the
lorry is B.

(i) State and explain whether D or B s the larger force.

*\’Zﬂhff tham.. 3{-@4'&& E: W v - B .1
(ii) Suggest one possible cause of the backward force B.

(b) The weight of the lorry is 300000 N.

The gra\fitationa[ field strength gis 10N/kg.

(i) Calculate the mass of the lorry. W= 200 000 - -

= (DM [Sem
w = oy S" ' r’ ) ' J
gnobam < 4
Lo 2006 s
oo
Cﬁ mass = BOQ.OD\E( eeeeeeessssssseressanns [1]
(i) The resultant force on the ey is ¥5000N. Calculate the acceleration of the lorry.
Fzoma
300600-So0p- Bavoc A G
2 :5-0\“;_' Q
LEY4 S acceleration = O\S-m\‘:? 2]
RO
(c) Later, the lorrndtenis a corner at constant speed.
Explain why the lorry accelerates even though the speed is constant.

megal ecture@nuil . con
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(a) The simple statement that the lorry is accelerating is enough to explain why D is the larger force in (i) and
the choice of air resistance is suitable for the backward force B in (ii). (2/2)

(b) The correct equation was used to find the mass from the weight in (i), even though there is an extra zero
in one value quoted for the weight. Although the correct formula was used to find acceleration in (ii) and
the final unit is correct, the force to be used in F=ma should always be the resultant force. In this answer,
the candidate has wrongly attempted to combine weight and the resultant force and was not awarded full
marks. (2/3)

(c) Not enough knowledge was shown of circular motion and the answer merely repeats aspects of the
question. Candidates should realise that repeating the question does not earn any credit and reduces the

space for the actual answer. (0/1)

Total mark awarded = 4 out of 6
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1  Fig. 1.1 shows a lorry accelerating in a straight line along a horizontal road.

Fig. 1.1

(@) The driving force on the lorry in the forward direction is D and the total backward force on the
lorry is B. '

(i) State and explain whether D or Bis the larger force.

DI I LY e (VT O S S
. 1]
(i) Suggest one possible cause of the backward force B.
(b) The weight of the lorry is 300000N,
The gravitational field strength gis 10N/kg.
(i) Calculate the mass of the lorry.
L=y
200000N= o N /1)
= "o oo bRy Ohfass = ... 20908 %3....... - 1]
(i) The resultant force on the larfy’s T8G00N. Calculate the acceleration of the lorry.
Fovne
15000 = (o o0qiay) &
ez 2 mA acceleration = T2 Y7 £ S [
(¢) Later, the lomrytuthia a corner at constant speed.
Explain why the lorry accelerates even though the speed is constant.
.Due B4 jnsex Seststormmtonsts. Wyt dodeer.......
dneyse. | ofHa—torey and beighd dfpe lorry 1]
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(a) The candidate has stated in (i) that D is the larger force but has not explained how the question shows
that it is the larger force, for example by stating that the lorry is accelerating in the forwards direction.
A reasonable suggestion was made as to the cause of the backwards force, although the friction is not
within the tyres but between the tyres and the road. (1/2)

(b) The correct formula and calculation was used to find the mass of the lorry but in using the formula F=ma
there has been an arithmetic mistake and the final unit is also incorrect. The candidate does, however,
show knowledge of the formula and so one mark was awarded in (ii). (2/3)

(c) No understanding was shown of circular motion. (0/1)

Total mark awarded = 3 out of 6
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2 (a} (i} (P=)F/A algebraic in any form or numerical [C1]
33N/cm? or 3.3 x 10°N/m? [A1]
(ii} 170 N or 167 N or 166.7 N or (i} x 5 with unit B1]

(b} volume (of oil) remains the same
or oil passes from small(er) to large(r) area

or work = Fd and force large so distance small B1]

(c} output + input or fraction or percentage of work mentioned [C1]
complete definition, e.g. useful work obtained + (total) work put in [A1]

[6]
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2 Fig. 2.1 shows part of a hydraulic jack used to lift the front of a car.

‘ force exerted
by operator

. oil
- larger U small - handie
cylinder piston piston

pivot

Fig. 2.1 (not to scale) -

The operator pulls the handle and causes a force of 50N to act on the small piston. The force
exerted by the oil on.the large piston increases by F. The large piston moves and rotates the arm
about the pivot. This raises the front of the car.

The cross-sectional area of the small piston is 1.5cm?2.
The cross-sectional area of the large.piston is 5.0cm?.

(a) Calculate

(i) the pressure in the oil caused by the force on the small piston,

<E = 3331p
R ———mmes

= E@ w1 '

5 5 pressure = 352;5;94 2]
(i) the value of F.
p= i P = 23.33X0
S s b-b5N
33-33° —

(b) Explain why the large piston moves through a shorter distance than the small piston.

W dage piton g larger, o when wompdred Yo M wiall piston:
e wlume of oo piton tnat  wowd e Yo Ve epd to e volmd

Loaed ot Sl pNton- e 1]

(c) The efficiency of the jack is 75%. Explain what is meant by efficiericy.
Efticleny. . menns . wal webd erogy outpul. over Yo otal  eney leput
nutighied vy 100 Jo. W dbo meant e jerrartape of welnest: o
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(a) The equation for calculating pressure was correct but the final unit should have been N/cm? and not Pa as
the area used in the equation was in cm? and not m?. The area could have been changed to 1.5 x 10 m?
if the answer had to be in Pa but there is no need to make this change. In (ii) the candidate realised
that the pressure was the same on both pistons and successfully calculated the answer to earn full
marks. (2/3)

(b) It was not sufficient to just state that the large piston has a larger cross-sectional area but this answer
successfully goes on to explain that the volume of the oil that passes from the smaller to the larger piston
is the same and thus the piston moves through a smaller distance. (1/1)

(c) The candidate provides a good definition of efficiency, which was sufficient and mentioned useful energy
output rather than total energy output. There was no need to relate the efficiency to the actual efficiency
of the jack itself. (2/2)

Total mark awarded =5 out of 6
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2 Fig. 2.1 shows part of a hydraulic jack used to lift the front of a car.

\ " force exerted

by operator

o small
piston

large
cylinder Piston

handle

pivot

Fig. 2.1 (not to scale)

The operator pulls the handle and causes a force of 50N to act on the small piston. The force
exerted by the ail on the large piston increases by F. The large piston moves and rotates the arm
about the pivot. This raises the front of the car. .

The cross-sectional area of the small piston is 1.5cm?2,
The cross-sectional area of the large piston is 5.0cm?.

(a) Calculate

(i) the pressure in the oil caused by the force on the small piston,

P~ ¥7a
2 §b =1 ‘.s
pressure = ?’2’"%?& [2]
(i) the value of F,
P~ F/m - | Fr Pad
S0x3338 = ¥
(65 N

(b) Explain why the large piston moves through a shorter distance than the small piston.

Sinte ‘e force execking on large picton i larqey

don, Ww feice —exex HM& of tue Swmad F*’:_lfo_n? fe [cz_ra,.e

. G ol de

picton Smeba. Shorter clistonce due to e la ¥ A A
e i :

(c) The efficiency of the jack is 75%. Explain what is meant by efficiency.

Sl L R R I W e s, )

.2
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(a) The candidate used the formula correctly but the unit should have been N/cm?with the values that were
used. The calculation of force in (ii) was correct using the actual value for pressure calculated in (i). (2/3)

(b) The candidate realised that the force on the smaller piston was larger but, in comparing the distance
moved by the two pistons, did not relate these forces to the work being done on the two pistons but
incorrectly stated that the smaller distance of movement was due to the larger pressure. (0/1)

(c) Some understanding was shown of efficiency in the statement provided but the full answer required the
understanding that useful output energy (or power) is involved. (1/2)

Total mark awarded = 3 out of 6
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2  Fig. 2.1 shows part of a hydraulic jack used to lift the front of a car.

\ , : ) force exerted

by operator

large of small

cylinder piston piston handie
\

pivot

Fig. 2.1 (not to scale)
The operator pulls the handle and causes a force of 50N to act on the small piston. The force
exerted. by the oil on the large piston increases by F. The large piston moves and rotates the arm
about the pivot. This raises the front of the car.

The cross-sectional area of the small piston is 1.5cm?2.
The cross-sectional area of the large plston is 5.0cm?,

(a) Calculate

(i) the pressure in the oil caused by the force on the small piston,

?YWV@ 2 EE___ & Aia N

v« <
pressure = ?gg [2]
(i) the value of F.
F= CoN . oW
$-o

(b) Explain why the large piston moves through a shorter distance than the small piston.
e H:_‘a V*Tj& B = S @M xxed . en...

(ax . A‘o ft:e gmdi P\S)S‘b'\r-\ \«\ava &m%ﬁ* 61“&[1]

AL/Q* O
(¢) The efficiency of the |'ack is 75%. Explain what is meant by efficiency.

Bl e kS P Qﬁ’w e.c...
%% :J?)QY Og ﬂﬂ- J J‘C/kf Aj lﬂ 2]
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(a) Knowledge was shown of the formula for calculating pressure by the use of the correct numbers but
the attempt at giving the unit for the final answer only produced the unit of N for the pressure. In this
particular question, the unit can be worked out from the data used as N/cm?. In (ii) the candidate is not
using the same pressure calculated as in (i) and so no mark could be awarded. (1/3)

(b) No attempt is made to compare the distance of movement of the two pistons. Rather the answer appears
to try and explain why one force is larger than the other. (0/1)

(c) No real understanding was shown of efficiency. Had the answer suggested that efficiency is the
percentage of the power of the jack that is output, or better that efficiency is the percentage of the input

power that becomes useful output power, then marks would have been awarded. (0/2)

Total mark awarded = 1 out of 6
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3 (a} (i} any sensible example where expansion is useful [B1]

(ii} any sensible example where expansion causes a problem B1]

(b} (molecules) move fast(er) or vibrate fast(er) or have more (kinetic/potential/internal)

energy B1]
(molecules) move apart or distance between molecules increases or vibration has

larger amplitude or vibration takes up more space or bonds stretch B1]

(c} slightly smaller [B1]

much larger B1]

[6]
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3

(a)

(b)

(c)

Most substances expand when they are heated.
(a) (i) State one example where expansion is useful.
Cﬂo}qngﬁma(_ (1]
(ii) State one example where expansion causes a problem.

Sﬁﬁgsf}gapeiac‘éﬂﬁl—ml)lﬂanpgzom [1]

(b) Explain, using ideas about molecules, why solids expand when heated.
Lhen...alids....are.... heated, the. molecules in the.cids
gain.. )qm(:;c: energy..and. begn... ... ibrate. mare...
W Qmms .............. i‘? j pasj Lions. In. clo:nﬁ L.

eadl WW& f?dmfﬂ:c hnai:k: emrﬁ (:e')!f*: ..............
ﬁhbom...nﬁiemlﬁ W&L ..... w%e, = Afm 2)

(c) 'Rlﬁen equal volumes are heated through the same temperature rise; the expansions of solids,
liquids and gases are different.

Complete each of the two sentences using one of these expregsions:
much larger slightly larger much smaller slightly smaller
1. The expansion of a solid is . SI! 3}1{:{5[ S HQUAJ . than the expansion of a liquid.

2. The expansion of a gas is . MMC}) 1 QUGG .......... than the expansion of a liquid.
A
(2]

In (i) it was not clear how expasisidn is involved in the cooking of food. Had the example suggested that
water expands and sets up,a corivection current that would have been sufficient. The example quoted
in (if) was sufficient as tlteproblem was clearly expressed as the sagging of electrical cables. Many
answers merely suggegtedyfor example ‘electrical cables’ or ‘railway tracks’, which was not sufficient but

this example gave thetetail that ensures that expansion is a problem. (1/2)

The idea of a more vigorous vibration with more kinetic energy was well expressed but there was no
clear link to an increase in the separation of the molecules, only that the force of attraction between the

molecules is weaker. (1/2)
Both answers were correct. (2/2)

Total mark awarded = 4 out of 6
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3 Most substances expand when they are heated.

(a) (i) State one example where expansion is useful.

(i) State one example where expansion causes a problem.

":Dr\S&S&M\kh"@&‘\“hw“\(hhw\bwgwm [1]

(b) Explain, using ideas about molecules, why solids expand when heated.

Uyen Toakd) oo cedaptan W o A0Gd weve fasc, pa
y\} b ““"'B'RM B 0&80) ’Q’“\?f‘
W (»m;;‘m e, Yoo wotutes S dha g oppand .

RV AU SPINIVAT SR SN

2]

(c) When equal volumes are heated through the same temperature rise, the expansions of solids,
liquids and gases are different.

Complete each of the two sentences using one of these expressions:

much larger slightly larger much smaller slightly smaller
1. The expansion of a solid is . 5\\ W ‘51'““";1 : . than the expansion of a liquid.
2. The expansion of a gas is N‘“"‘S’\ ‘9‘“}” than the expansion of a liquid.

(2]

(a) The statement is too brief for it to be clear that expansion is involved. Slightly more detail is necessary,

such as heating the top on a bottle to separate it from the bottle in (i) and a railway track may buckle and
not come back to its original form. (0/2)

(b) The answer clearly states that molecules move faster and so the first mark can be awarded. However it is
not clear for the second mark that the molecules move apart. The molecules themselves do not expand;
they stay the same size but the distance between them increases. (1/2)

(c) Both answers are correct and so both marks are awarded. (2/2)

Total mark awarded = 3 out of 6
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3 Most substances expand when they are heated.

(a) (i) State one example where expansion is useful.

(i) State one example where expansion causes a problem,
e A MR BRI T

(b) Explain, using ideas about molecules, why solids expand when heated.
Decauce.. ihen. the. Solid. melecnss. geaked K.
..g,;;..z.ﬂ.;.\'S.‘\ﬁ:l&b':‘g.....e,na:c.g._q.....tb..@.....ma.l.e.g.wi.guc....h.{.Jn.ml:m.g...............
wafdtaitnd..be. The. . melgcieles. e xpand.sahen. heat.e.d..
.I.:E...c}e‘.tim....:emczug.h.....-e,n.e:f.g.3;.......1“.45’:2....Joxi.ea-.\.l's....I:.h.f}....:?czxc.e,g.zi.;

........ Ly Tl T~ W |

(c) When equal volumes are heated through the same temperature rise, the expatisions of solids,
liquids and gases are different.

Complete each of the two sentences using one of these expressiont:
much larger slightly larger | %Tgch smaller slightly smaller
S h T

19
1. The expansion of a solid is ....heESIT

+.1.£¢9°2Y . than the expansion of a liquid.

2. The expansion of a gas is .....S.'.iﬁhﬁg..._C.mzt.j.é.m.f.... than the expansion of a liquid.
2]

(a) The situation where expansion is¢Cgeful is not stated at all in (i) and in (ii) it was necessary to state a
clear situation where expansiorfiwas a problem. No mark was earned because no useful or problematic
examples were given. The @xamples stated needed to have a clear link to a use for expansion, e.g.

mercury expanding in a th&riydmeter or a problem such as railway tracks bending. (0/2)

(b) The first mark could We clearly awarded for the recognition that the kinetic energy of the molecules
increases. There 18%also the indication that the molecules are vibrating more, although it would not be
helpful to say that molecules start to vibrate. The mark would not be awarded for the idea that molecules
themselves expand but here it appears that a change of state was being described as the molecules

break free from each other. This clearly meant the second 1mark could not be awarded. (1/2)

(c) Both ideas were incorrect and so no mark was earned. The answer suggested that solids expand more

than liquids and that gas expands less than liquid. (0/2)

Total mark awarded = 1 out of 6
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4 (a} (i) up anddown clear, e.g. by double headed arrow or down B1]
{(ii} any correct distance between consecutive points in phase B1]
(iii} correct distance B1]

(b} measure number of oscillations/count waves (passing) in a stated time or time at least
one oscillation [B1]
show how to calculate number of oscillations per second B1]

(e} moves (hand or rope) with slow(er) speed or rate/less frequency / less times persec  [B1]

[6]
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Example candidate response — grade A

4  Fig. 4.1 shows part of a long rope used by a student to show a fransverse wave.

D%ae clior
6] rroutecel

Fig. 4.1
(a) On Fig. 4.1,
(i) mark the direction of movement of the student’s hand, [1]
(ii) mark and label the wavelength 4 of the wave, (1]
(iii) mark and label the amplitude A of the wave. O® [1]

(b) Describe how the frequency of the wave is found using a stopwatch.

Laquenay i€ foond by putiing

(c) Using the same rope, the student producesqa@ a longer wavelength than that shown in

Fig.4.1.

State how the student does this. %a

e b W much reoe  goeched aope

ek BRI D s e s SOR SN

*

Examiner commernt ade A

(a) The direction of thexagrow was drawn correctly and labelled clearly as were the amplitude and wavelength.
Some care was taken with the diagram as shown by drawing the middle line. (3/3)

(b) There was a reasonable description of finding the time for one wave and using this to find the frequency
of the wave. For full marks, candidates needed to time more than one wave and then calculate frequency
or notice how many waves passed a point in a time greater than one second and then calculate the
number per second. (1/2)

(c) The candidate has made two suggestions, neither of which will increase the wavelength of the wave on
the rope shown. (0/1)

Total mark awarded = 4 out of 6
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Paper 2 Theory

Example candidate response — grade C

4

Fig. 4.1 shows part of a long rope used by a student to show a transverse wave.

Fig. 4.1
(a) On Fig.4.1,
(i) mark the direction of movement of the student’s hand, [1]
(ii) mark and label the wavelength A of the wave, [1]
(ili) mark and label the amplitude A of the wave. [1]

(b) Describe how the frequency of the wave is found using a stopwatch,

l_%_ IAMr\‘L a {);\,n’hl{t» 'K-"{ z"iif-[q_w}tj LA .{,Lj -&, !»L't.vuﬁ/ Cud

A4 Wane 'LJ !r\-nuof C‘c.t,mj 'ﬁu ﬁ.dpw'ﬁfjfft v hadonugd f’_:

% .......

(c) Using the same rope, the student produces a wave of a longer wavelength than that shown in

Fig. 4.1.
State how the student does this.
Tiee student  weunes b bhand Hfjw*cv-cj ool back

Examiner comment — grade C

(a)

(b)

(c)

The candidate drew a double headed arrow to show the direction of movement of the hand in making
a transverse wave. A single arrow downwards would also be correct as the hand is moving downwards
in the part of the cycle shown. The answer to (ii) shows a length that is from top to bottom of the wave
rather than from the top to the middle. Some candidates drew the middle line to make the correct
distance clear. The mark in (iii) was not awarded as the arrow drawn is too short. A little more care was
needed to draw a line from one trough to the next. (1/3)

There is no clear idea of how the stopwatch is used to time at least one wave and then calculate the
frequency. Most candidates did at least describe how to measure the period of time for one wave. (0/2)

The candidate gave a sensible and well described account of taking longer to make one wave and thus
increasing the wavelength. (1/1)

Total mark awarded = 2 out of 6
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Paper 2 Theory

Example candidate response — grade E

4 Fig. 4.1 shows part of a long rope used by a student to show a transverse wave.

.

Fig. 4.1
(a) On Fig.4.1,
(i) mark the direction of movement of the student’s hand, 1]
(ii) mark and label the wavelength 4 of the wave, (1
(iii) mark and label the amplitude A of the wave. 1]

(b) Describe how the trequency of the wave is foﬂsmg a stopwatch

.................. o At w%ﬂ we. S 4&1

(c) Using the same rope, the student produces a wa' of a longer wavelength than that shown in
Fig. 4.1.

State how th student does thus
b Lﬁoﬁgaw[j(j ..................

Examiner commeQX™ grade E

(a) The direction of movement shown was incorrect for a transverse wave in (i) and the length drawn to
represent the amplitude was twice the required length. However the wavelength was drawn with some
care and accuracy. (1/3)

(b) The description of how to find the time for one wave has been attempted but it is not clear enough for
even one mark. A description of finding the time for the hand to move up and down at least once or the
time for, say, 10 waves to pass a point would have improved the answer considerably. It was recognised
that a calculation was necessary to convert the ‘time of the wave’ to frequency but the calculation was
not explicit in the relationship quoted. (0/2)

(c) Neither of the two suggestions quoted in the answer will produce a wave of larger wavelength. It is
sometimes counterproductive to quote two answers when only one is required because if one is clearly
wrong, in this case by suggesting that changing the direction of the hand alters the wavelength, then no
mark may be scored even if the other answer is correct. (0/1)
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5 (a} ultraviolet and infra-red B1]

(b} blue refracts /bends/deviates more B1]
blue slows more (than red when entering glass) or blue and red have different speeds

(from each other in glass) B1]

blue and red have different refractive indices B1]

[4]
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5 Visible light, radio waves, X-rays, gamma rays and microwaves are some of the components of the
electromagnetic spectrum.

(a) State two other components of the electromagnetic spectrum.

Bvaitol ek Ao o e

(1]
(b) White light is a mixture of different colours.
Fig, 5.1 shows a ray of white light entering a glass prism.

The white light separates into a number of colours. Only the blue light.and the red light are
shown.

glass
prism

red
" Yiue

white

Fig. 5.1
Explain why the blue light and the red light separate (1s shown.

Use the term refraclive indexin your answer.

.......... The.... blee.. &%\,\} A )\a..hc’/\ {Eﬂw 3 haa..
m@ﬁﬂ Lot A “?ﬂ? ﬁ chnds
ess e Mz zd. Qﬂbdnf 'Nneic ﬁﬁl e,

f@ ﬂhm}w& daclex. ﬁm blve... Liepht.. ... m0%e.. ﬁwm

"W’ Tefackie. inclex. Jed.. Gept-.. Tt speed ...
_é@g&@ ale }hom/ﬁj he  ted @1-7441» pree

(a) Both infra-red and ultra violet are the acceptable extra components of the electromagnetic spectrum.
(1/1)

(b) The candidate clearly understands that the two colours have different refractive indices and explains
further that this is because the speed decreases more for blue than red light and it is taken that this
decrease is as the light enters the glass. Some initial statements about frequency and wavelength,
although correct are not the reason for the decrease in speed. The answer would have improved by
describing how the difference in refractive index causes the separation to differ; indeed separation is not
mentioned in the answer. (2/3)

Total mark awarded = 3 out of 4
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5 Visible light, radio waves, X-rays, gamma rays and mrcrowaves are some of the components of the
electromagnetic spectrum.

(a) State two other components of the electromagnetic spectrum.

(b) White light is a mixture of different colours.

Fig. 5.1 shows a ray of white light entering a glass prism.

The white light separates into a number of colours. Only the blue light and the.red light are
shown.

glass
prism

red
blue

white

Fig. 5.1

Explain why the blue light and the red light éeparate as shown.

Use the term refractive index in your answer.

memwﬁwmﬁma&mmﬂwwwﬁw
W M%% g Toe vtz Liglt Moo, ol

mbo{: Mm:ﬁiﬁawml}rwm

blue bﬁw‘ /slr)m due 104l

(a) Although both the components stated are in the electromagnetic spectrum, the mark cannot be awarded
because X-rays have already been mentioned in the question and are not another component of the

spectrum. (0/1)

(b) A sensible description of refraction and the separation has been given but the question asks for an
explanation of the separation, using the term refractive index. There is no mention that the refractive
index of red and blue are different or that this causes blue to refract more as it enters or leaves the prism.
There is, however, some indication that blue and red light travel at different speeds. It would have been
more helpful if the dispersion had happened as the light enters as well as leaves the glass and had the
difference in speeds been clearly in the glass as there was some indication that the difference in speeds
may have been after leaving the prism; however there was enough indication that the separation was

caused by the different speeds of the two colours to award one mark. (1/3)
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5  Visible light, radio waves, X-rays, gamma rays and microwaves are some of the components of the
electromagnetic spectrum.

(a) State two other components of the electromagnetic spectrum.
oo wha L viele o mass coeved

a0 A 24
R Y ye MLy A< G
(11

(b) White light is a mixture of different colours.
Fig. 5.1 shows a ray of white light entering a glass prism.

The white light separates into a number of colours. Only the biue light and the red light are
shown.

glass
prism

white

Fig. 5.1
‘ Explain why the blue light and the red light 'separate as $hown.

Use the term refractive index in your answes

cbﬂ‘(ﬂ’“ PY\S S ANE €~ C}'\ ;

LIS e e

(a) Although ultra-violet is another part of the electromagnetic spectrum, sound is not and no mark
was awarded. (0/1)

(b) The candidate has not quite suggested that the different colours in white light have different refractive
indices in the glass and has, unfortunately, confused refraction and reflection. (0/3)

Total mark awarded = 0 out of 4
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6 (a} (i) any single value between 0 and 5.6 cm or a range all of whose values are correct B1]

(ii} any value beyond 5.6cm [B1]
(b} (i} ray through optical centre undeviated B1]
other ray correct through or to axis 2.8 cm (+ % small square) from lens [B1]

(i} lines drawn meet after 11cm or rays do not meet (on page) or rays almost parallel [B1]

(iii) inverted, magnified, real all 3 needed and none wrong [B1]

[6]
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Example candidate response — grade A

6 (a) A beam of parallel light strikes a converging lens of focal length 2.8cm.

The width of the beam before it reaches the lens is 1.0cm. The width changes on the other
side of the lens.

State a distance from the lens where the width of the beam is

()

less than 1.0cm,

o e e, e Ay M SO (s Y W] L (1]
(ii) more than 1.0cm.

................. O s e S g s B e e )

(b) An object is placed 3.0cm from a converging lens of focal length of 2.8¢m. Fig. 6.1 is an
incomplete, full-scale ray diagram for this arrangement.

lens
B <>\
— o
abject 1 .:;;:: .::_'z: . o S
ol zeqed Lefd e
o \-..’e‘
B e Ege i
- ' : ! . ‘ .'. {8 I
HHH IR :
" iem N o
ig. 6.1 (full scale)
(i) OnFig. 6.1, draw ths of the two rays after they pass through the lens. [2]
(ii) Explain how. ay diagram shows that the image is more than 11cm from the lens.
..... mem“f(}:ffamﬁa&,manu&faij

(i)

WWW. Vout ube. conml negal ect ure

ot  Tae.... gm#\ ........................................................... (1]

Underline three of the following words which describe the image.

diminished inverted magnified real upright virtual (1]

Paper 2 Theory
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(a) A correct answer was given in (i) but not in (ii). Very good answers often showed that candidates had
sketched a beam as it struck a lens and continued the beam on the other side of the lens to establish that
the beam becomes wider than 1.0 cm at a distance more than 5.6 cm from the lens. (1/2)

(b) The correct ray diagram was drawn in (i) and some care was taken to make sure that the rays were drawn
correctly. A long rule helps in drawing the rays correctly. In (ii) it is not true to suggest that rays are only
converging outside the diagram as the rays are actually converging at all points on the diagram, but this
answer was taken as indicating that the rays do not actually meet on the diagram and was awarded a
mark in (ii). In (iii) it is impossible for the image to be both diminished and magnified. (3/4)

Total mark awarded = 4 out of 6
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Paper 2 Theory

Example candidate response — grade C

6 (a) Abeam of parallel light strikes a converging lens of focal length 2.8cm.

The width of the beam before it reaches the lens is 1.0cm. The width changes on the other
side of the lens,

State a distance from the lens where the width of the beam is
(i) less than 1.0cm,

(i) more than 1.0cm.

(b) An object is placed 3.0cm from a converging lens of focal length of 2.8cm. Fig. 6.1 is an
incomplete, full-scale ray diagram for this arrangement.

lens

object g

L

. 6.1 (full scale)

(i) On Fig. 6.1, draw ths of the two rays after they pass through the lens. [2]

ay diagram shows that the image is more than 11cm from the lens.
o .o

(i) Explain ho

bg m{wm»gm dtstamce between Inofe

‘and Lens qnd..a.tlg-f‘d-awcuj o -QQ.--, i
(iii) Underline three of the following words which describe the image.
diminished inverted magnified real upright virtual [1]
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(a) Any single value between 0 and 5.6 cm was accepted in (i) and the value quoted is in this range. However
the value quoted in (ii) was not beyond 2f from the lens and so the beam would still have been smaller
than 1.0 cm in width. (1/2)

(b) The diagram in (i) clearly attempted to draw a ray undeviated through the optical centre of the lens and
that was accepted even though it is slightly bent as it passes through the lens. The second ray through
the focal point was not accurately drawn as it intersects the principal axis at 2.5cm rather than 2.8cm
from the lens. The answer in (ii) does not use the ray diagram in the suggestion. The three underlined
words clearly show that the candidate realised the correct properties of the image, even though it had not
been shown on the ray diagram. (2/4)

Total mark awarded = 3 out of 6
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Paper 2 Theory

Example candidate response — grade E

6 (a) Abeam of parallel light strikes a converging lens of focal length 2.8cm.

The width of the beam before it reaches the lens is 1.0cm. The width changes on the other
side of the lens.

State a distance from the lens where the width of the beam is

()

(i)

less than 1 Ucm

more than 1.0¢|
. st{mm B Mg A

(b) An object is placed 3.0cm from a converging lens of focal length of 2.8cm. Fig. 6.1 is an
incomplete, full-scale ray diagram for this arrangement.

object

(M
(i)

(iii)

lens 10
Eaaan R na e N an EeRumuaREEEd saaaERE~- 2 ak
SSERiSRRRSE ioedpaaasstaatasececacictatinactthctsines o 20t
s e
i BB ptegy i SiEdiss

T
I -~..__ PR VE g S
Vil 1 || (I H“-~-—-.__4_L__ ECEEET Z_j" Ll 'f':'f'i T
2| RSN R M'"‘"“"—A 'Iﬁf,’::',l:.,:.".""'
SEiEREammiza DN
135 8 ),.. Sl | 151 i e

S em b EH

é. 6.1 (full scale)

On Fig. 6.1, draw t s of the two rays after they pass through the lens. [2]

Explain how diagram shows that the image is more than 11cm from the lens.

wee Wty clons et wack e
%\L e f[@TI\ e LQ«U’S b lw'k M@?&.Z.".n]

Underline three of the following words which describe the image.

diminished inverted magnified real upright virtual (1]
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(a) The distances suggested in (i) and (ii) are not actual values. If the candidate had suggested that the
distance was less than one or two focal lengths from the lens in (i) and more than 2f from the lens in
(if) then those answers would have been correct. (0/2)

(b) Neither of the two rays drawn in the answer was correct and so no mark could be awarded in (i). The idea
is clearly and correctly expressed in (ii) that the rays do not meet within 11cm from the lens. However in
(iii) the image is not upright and, indeed, the candidate’s rays would clearly have met in an inverted image
and so no mark was earned in the last section. (1/4)

Total mark awarded = 1 out of 6
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7 (a)} (i) horizontal arrow to right (by eye) B1]
(i} forces/resultant causes moment or (turns because) force is not at pivot [B1]

(b} mark made at one end/pole/direction of compass (on paper) [B1]
move compass so that other end of compass is on mark and remark B1]

join marks made as compass moved on in some way (to draw line) [B1]

[5]
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Paper 2 Theory

Example candidate response — grade A

7 Fig. 7.1 shows a compass needle near a bar magnet. Magnetic poles are shown on the compass
needle and on the magnet.

A finger stops the compass needle from turning.

bar

magnet
age\“\-..

Fig. 7.1 (not to scale)
(a) (i) The magnet causes a force on the S-pole of the compass needle.

On Fig. 7.1, draw an arrow from the S-pole of the compass needie to show the direction
of this force. [1]

(ij) Explain why the compass needle lurns when the finger is removed.
T ‘\E Mn‘:}heb : 4 PO £5...9 H.‘rq.c.f th £.ComPATS...

(b) A small compass is used to plot the magnetic field lines of the magnet.
Describe how the compass is used to plot magnetic field lines on a piece of paper.

E—d

PaPt‘r
Me. LQKQ i 8 Flﬂﬂ:mj ’!‘Mf)ﬂai;ﬂ.‘r“’hffi JRass....

and..a.par.. "ﬂagh{;‘.t Ye. place. the. masnﬁt Q..
Lh». Pmpfir ani. PIQL’E 'HU;’ (.nrnp:.\a.s....:JE»{rﬁ ..... t f;e
ﬁuth £wad: ﬂ')e u}mpas: po:m‘t}uha divectiow. and

we glace a..dat. ﬂn.,i—kz-}n Now. R plaze the.

c.“,:"ﬂ a%s beioﬂ X"‘(— det th‘\ ma Ke ’-‘ﬁﬂt"’f* we H""‘
t_)ﬂil"‘l r_]H t}‘l(—" o t-bai')OL.J tﬂf ¥ :th?'*lu_ 'flejd ll‘n&:s
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(a) In (i) the needle is drawn as though the S-pole is attracted to the S-pole which is wrong. The S-pole of the
compass is attracted to the N-pole of the magnet and repelled by the S-pole. The resultant force is not
towards one of the poles but is horizontal. In (ii), the question states that there is a force on the S-pole
and asks why the needle turns. It does not ask why there is a force on the needle. The answer should
refer in some way to the turning effect of the force, its moment or that the force does not pass through
the pivot. This answer tries to explain why there is a force and not why it turns. (0/2)

(b) Thisis a good clear logical answer that sets out the experimental procedure clearly. Not only is the end of
the compass marked but the movement of the compass is clearly described in words. The diagram drawn
is also helpful as it shows two positions of the compass with the second compass aligned with the dot
made by the first compass. (3/3)

Total mark awarded = 3 out of 5
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Example candidate response — grade C

7 Fig. 7.1 shows a compass needle near a bar magnet. Magnetic poles are shown on the compass
needle and on the magnet.
A finger stops the compass needle from turning.
pivot
compass /
needle

bar
magnet -

Fig. 7.1 (not to scale)
(a) (i) The magnet causes a force on the S-pole of the compass needle.

On Fig. 7.1, draw an arrow from the S-pole of the compass needle to show the direction
of this force. (1]

(i) Explain why the compass needle turns when the finger is removed.

u&mm&‘iger?&Y@mmchmgc[&

y
(
(
(
(
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|
{
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|
|
|
|
|
|
|
|
|
|
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|
|
|
|
|
|
|

(b) A small compass is used to plot the magnetic field lines of the magnet.

Describe how the compass is used to plot magnetic field lines on a piece of paper.

P D —D &)
| _ gy
D =@ 2 >g~ e o
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(a) Although the arrow drawn on the S-pole in (i) is not perfectly horizontal or straight, the intention to draw
the resultant force is clearly shown and this was awarded a mark. In (ii) there is some indication that
the answer attempts to explain why the needle turns, but the answer would have improved with more
explanation as to what causes a compass to align with the magnetic field. When a question asks for an
explanation it is helpful to mention the relevant physical principles, in this case as to why an object turns.
(1/2)

(b) The answer shows that the end of the compass needle is marked while the magnetic field is plotted and
so this answer can score the first mark. The diagram seems to indicate that the compass is moved on
but it is not explained in the text that the compass, or its end, is placed over the previous mark and the
diagram shows compasses placed very far apart and so the second mark was not earned. There is no
indication on the diagram or in the text that the marks made at each compass position are joined together.
(1/3)

Total mark awarded = 2 out of 5
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Paper 2 Theory

Example candidate response — grade E

7 Fig. 7.1 shows a compass needle near a bar magnet. Magnetic poles are shown on the compass
needle and on the magnet.

A finger stops the compass needle from turning.

pivot

bar

magnet =

Fig. 7.1 (not to scale)
(a) (i) The magnet causes a force on the S-pole of the compass needle.

On Fig. 7.1, draw an arrow from the S-pole of the compass needle to show the direction
of this force. (1]

(ii) Explain why the compass needle turns when the finger is removed.

b

(b) A small compass is used to plot the magnetic field lines of the magnet.

Describe how the compass is used to plot magnetic field lines on a piece of paper.

s o

fm@mg'ma eopAg S heas

Aqnes  and ke QA dok  line
Db vobn  pole ot w""["“”g Emﬂ

..ec,ﬁbh -

Q‘f-\ Hf‘ 4
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(a) Although horizontal and showing the resultant force, the arrow drawn in (i) is in the wrong direction. This
was a fairly coommon mistake. In (ii) the question asks why the needle turns and not why there is a force.
The detail given about the force is too vague. The use of the word ‘it" suggests that the whole compass
is attracted to the N-pole. (0/2)

(b) There was an indication that the end of the compass was marked but there was no statement or illustration
that showed the compass being placed at different positions and so only the first mark could be awarded.
(1/3)

Total mark awarded = 1 out of 5
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8 (a} (i) electron(s)and proton(s) B1]
(i) neutron(s) and proton(s) B1]

(b} (i) topbox 14 B1]
bottom box 7 [B1]

(c} (i} sensible halving seen, e.g. 2.4 — 1.2 or two halves clear or 7z x V2 seen [C1]
11400 or 11000 years [A1]

[6]
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8 (a) An atom consists of electrons surrounding a nucleus made up of protons and neutrons.
State which of these particles
(i) have an eciual and opposite charge,

(ii) have almost equal mass.

(b) The nuclide notation for carbon-14 is 1;0. Carbon-14 decays by beta emission to a stable
isotope of nitrogen (N).

(i) Write numbers in the empty boxes below to show the nuclide notation for this isotope of
nitrogen. * ’

26 N+ @
6
] [2]
(ii) The half-life of carbon-14 is.5706 years.
A sample of wood from a living tree contains 2.4 x 10’2 atems o carbon-14.

A similar_sample of the same size is taken from an wld*piece of waod. It contains
6.0 x 10" atoms of ca TZ,’,JE_[

—

Calculate the age of the o%iece of wood.

QO — 1. ax19 2 gy0’_ @ 340"
_.—@.qlﬁg o _@_75 *z'?@" b W

e of Wt 5700x5

-
W Yo frm L
‘ g

more Mo 560 gl

age = cl%@ojﬁw [2]
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(a) The candidate has quoted neutrons as having a charge in (i) and suggested that electrons and protons

have nearly the same mass in (ii) and so no marks were awarded for this knowledge of the structure of
the atom. (0/2)

(b) The values quoted for the proton number and nucleon number of the decay product were correct and full
marks were earned in (i). The calculation in (ii) showed a series that started by halving the initial number

of atoms and this was sufficient to earn the first mark. Unfortunately the halving continued past the final
number of atoms and so the number of half-lives and the final answer was incorrect. (3/4)

Total mark awarded = 3 out of 6
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8  (a) An atom consists of electrons surrounding a nucleus made up of protbns.and neutrons.
State which of these particles
E (i) have an equal and opposite charge,

RO OO e es e rs s es s seesessessssssseeenesssessnenense [1]

(ii) have almost equal mass.

(b) The nuclide notation for carbon-14 is 50 Carbon- 14 decays by beta emission to a stable
isotope of nitrogen (N).

(i) Write numbers in the empty boxes below to show the nuclide notation for this isotope of

nitrogen.
14~ M
C - N + (3

2]
(i) The half-life of carbon-14 is 5700 years.

A sample of wood from a living tree contains 2.4 x 10'2 atoms of carbon-14.

A similar sample of the same size is taken from an 4!d" piece of wood. [t contains
& 6.0 x 10! atoms of carbon-14.

Galcuiate the age of the old piece of wood.

hal% ¥bon - 18 5700 -
Sample wood .Y x\s™

as & have mert\GHe G o e
a8+ GeoxIsl

3‘@0\&
|+ win amh 33 Hme.

b

age = lK&qdaae&X;’ald ]
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(a) The answer needed to say both proton and electron in (i) and neutron and proton in (ii). Only one of these
particles was quoted in each case and so no mark was awarded. (0/2)

(b) The values quoted were correct and so full marks were earned in (i). Although not necessary in this case
it is worthwhile to show working within the answer and this may have helped in producing the correct
answer to (i). The working shown in (ii) seems to suggest that the sample decays, possibly by a factor of
two, 32 times rather than twice to reduce 2.4 x 102 to 6.0 x 10". It is advisable to show the halving simply
as a series of stages, e.g. 2.4 x 10> — 1.2 x 10> — 6.0 x 10" in this case to show that two half-lives have
passed. It was not clear how the number 32 had been obtained and so no mark was awarded. (2/4)

Total mark awarded = 2 out of 6
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8 (a) Anatom consists of electrons surrounding a nucleus made up of protons and neutrons.
State which of these particles
(i} have an equal and opposite charge,
(ii) have almost equal mass.

" (b) The nuclide notation for carbon-14 is '¢C. Carbon-14 decays by beta émission to a stable
isotope of nitrogen (N).

(i) Write numbers in the empty boxes below to show the nuclide notation for this isotope of

nitrogen.
14
'SC —> 5] N + B

2]

(ii) The half-life of carbon-14 is 5700 years.
A sample of wood from a living tree contains 2.4 x 1012 atoms'a¥carbon-14.

A similar sample of the same size is taken from an“la»piece of wood. It contains
6.0 x 101! atoms of carbon-14. .

Calculate the age of the old piece of wood.

SQ@y - 165° L Yas
P T =g
VoW
S 00

t At ) :

oyl <+ 650

AT I

[ 15 147 Cx b.oxte

age = %B’SQ) [2]
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(a) The candidate has suggested particles which are not mentioned in the list provided. When provided with
a list, it is important to choose items from that list as the question asks candidates to use the particles
stated. (0/2)

(b) The candidate appears to understand that the nucleon number is unchanged in beta decay but the proton
number has been decreased and not increased by one. Overall in (i) one mark was earned. The candidate
attempted in (ii) to halve the half-life a number of times and this was a common mistake. Candidates
should expect to halve a count or, in this case, a number of atoms several times to find out the number
of half-lives involved. (1/4)

Total mark awarded = 1 out of 6
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(b}

(c)

()

(e}

()

straight line from (0, 0)to (3, 2.4)
horizontal line from 3s to 8s
straight line from end of a horizontal line to zero in 1s

constant/same increase in velocity or constant change in velocity
constant/same increase in velocity per sec/unit time

occurs in a short(er) time
or acceleration took 3s and deceleration took 1s

(d =) speed x time numerical or algebraic or area under graph clear
1.2x3or3.6(m)or2.4x5or12seen
15.6mor 16 m

(i mgh seen in any algebraic or numerical form, e.g. &8 x10 x 1.6
480J

(ii} heat or thermal energy or sound produced
or work done against friction/ air resistaiice

at least two distances and correspondingtiimes mentioned

how the actual measurement i nizde, e.q. (any one from)

e make mark on ground every second and measure distances

* note video position evéwd gec and use a scale to find distances

e make mark on grouid every meter and measure/take time as girl passes

how constant speeis proved using measurement, e.g. (any one from)
e same distarise\Letween each position for the same time interval

» same tinteJriverval for equal distances

e Ad/At constant or slope of distance-time graph constant

[B1]
[B1]
[B1]

[C1]
[A1]

[B1]

[C1]
[C1]
[A1]

[C1]
[A1]

[B1]

[C1]

[A1]

[B1]

[15]
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Paper 2 Theory

Example candidate response — grade A

9 A children’s ride consists of a steel cable that runs between two posts of different heights, as
shown in Fig. 9.1.

steel cable
\ __——post
\
Fig. 9.1
A girl starts and finishes the ride at rest. Her horizontal motion can be taken as
*  an initial uniform acceleration for 3.0s, followed by
*  aconstant speed of 2.4m/s for a further 5.0s and
« a final uniform deceleration that lasts for 1.0s.
(a) On Fig. 9.2, draw a speed-time graph of the horizontal motion.
4
speed HENE S I 5!
mis  geftEERREE T
HH A ; TN
S RN
5 7. 48| T o
0 2 a 6 % 10
time/s
Fig. 9.2 [3]

(b) Explain what is meant by uniform acceleration.
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(c) The final deceleration is larger in size than the initial acceleration.

Explain how the data shows this.
of o fm:y;zu w. olecluodin

.. e & podhand

-1
(d) Calculate the horizontal distance travelled by the girl in the first 8.0s.

Y1-4 X% ‘b -4 5K

Byt
distance = oo WG YA 18]

(e) (i) The girl has a mass of 30kg and falls a vertical distance of 1.6 m during the ride.

The gravitational field strength g is 10N/kg.

Calculate the decrease in gravitational potential energy of the girl.

9pe - 'W“j M '
20 ¥ 10 X1* (49
decrease in potential energy = 48&:[ [2]

(ii) The gain in kinetic energy of the girl is less-than the Sacrease in her potemial energy.
Suggest one reason for this.

Jhe olecapane m*U/w;aOMc’ %b%{ a.len oo

»

1]

(f) A group of pupils make measurements teyshow that the girl’s speed is constant during the
middle section of the ride.

Suggest what measurements are made and how they sho.w that the speed is constant.

Onp. abdonk rrocdintle dilowe of n midlle, kit untig .
tope  meowon e ot ioluk gvons . bimé Y b
iole_ m;wwmmw&cw%~Mﬁ¢@@°wmﬁm%
(oo sut bon syl vewg T eQualish z}paed dlina

Ho _afwa aptrclel mau PV oce.g‘i,"‘”"‘

. [8]

Page 54 of 112

WWW.MEGALECTURE.COM

WWW. Vout ube. conml negal ect ure



what sapp: +92 323 509 4443, enmil: negal ecture@mail . con
Paper 2 Theory

Examiner comment — grade A

(a) The graph drawn has used the data in the question correctly. The axes contained sensible numbers and
the value at 2.4 m/s was plotted correctly. A common mistake was to plot this point as 2.8 m/s. The graph
has an initial straight line portion and the final deceleration is uniform. The line drawn is neat and has been
drawn using a ruler. Full marks were awarded. (3/3)

(b) The initial statement about forces was ignored as it is a correct statement but does not answer the
question, which asks ‘what is meant by uniform acceleration’ and not how it is produced. The second
sentence was awarded only one mark as there is an indication that there is a constant change in velocity.
However it is not clear that there is the same change in velocity per unit time as a car whose ‘velocity is
changing constantly with time’ may be speeding up and slowing down all the time and not necessarily
having the same change in speed per second. (1/2)

(c) Although the candidate does not compare the gradient of the graph during the acceleration and
deceleration sections explicitly, it is clear that the correct comparison is being made and the mark was
awarded. (1/1)

(d) The correct calculation and result has been produced in this answer, by dividing the motion into two
sections. The formulae themselves were not given and it is advisable to give the actual formulae used
before inserting the numerical values. However it is clear that the correct formulae have been used and
the answer and unit are correct, so full marks were earned. (3/3)

(e) In this section the calculation shown in (i) was excellent. The formula was stated with a left-hand side
(g.p.e.) as well as a right-hand side (mgh). Numbers were inserted and the final answer was given the
correct unit for energy. If the candidate had made any simple mistake, such as an arithmetic mistake,
then, as the working is so clear, then as much credit as possible would have been given. In (ii) the
candidate has correctly identified that this question is asking where the missing energy has gone. Many
candidates gave more detail such as a description of the friction that caused the apparent loss in energy
but the answer provided here was sufficient to be awarded the final mark. (3/3)

(f) To show that the speed is constant in the middle section, at least two distances and their corresponding
times need to be measured. This answer only seemed to measure one distance, the “distance of the
middle section” and thus only one speed could be measured. Had the candidate suggested that the
middle section was divided into parts and the time for each part was measured, then the answer would
have been much improved. It was also not clear whether a distance was actually measured as the tape
measure was just used to “mark the distance of the middle section” A little more detail about marking
made on the ground or the cable at specific distances or times with the use of a tape measure would
have allowed the second mark to be scored. As the measurements were not clear, the experiment did
not seem to show that several speeds would be found to be equal, and the third mark was not earned,
even for the statement speed = distance/time. (0/3)

Total mark awarded = 11 out of 15
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Example candidate response — grade C

9 A children’s ride consists of a steel cable that runs between two posts of different heights, as
shown in Fig. 9.1.

steel cable

Fig. 9.1

*  an initial uniform acceleration for 3.0s, followed by

A girl starts and finishes the ride at rest. Her horizontal motion can be taken as
* aconstant speed of 2.4m/s for a further 5.0s and O®

* a final uniform deceleration that lasts for 1.0s.
(a) On Fig. 9.2, draw a speed-time graph of the horizontal motion. ()

Vo 3
B e R e < B

P

speed
m/s

time/s

(3]

...............................................................................................................

with coatent velouily wlexe ox moviag with

Somea s -L:_E{ "‘cfﬂ‘;d,r_:\\"’fdxj .
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(c) The final deceleration is larger in size than the initial acceleration.

Explain how the data shows this.
U““QO‘T N M.L...e_z\’ﬁ)’!“c:k_‘ﬁﬂ Aol o % P‘a"{-—ﬂ—v“‘h ond om actent- mﬂﬁt‘

cd—-\“r-n_ mxd—\'\\-@.n c\q-.ejv‘{d_mﬂ:mﬂ u'-\ O&st“d —[1]

ulate the horizontal distance travelled by the girl in the first 8.0s.
ea vaded e borve = § 4 (g45)42M
2

— T B

distance = ... ' 2 S E D o 8]

The girl has a mass of 30kg and falls a vertical distance of 1.6 m during the ride.
The gravitational field strength gis 10N/kg.
Calculate the decrease in gravitational potential energy of the girl.
Eg=rmah
= %29 1B 2\r

decrease in potential energy = M%Q}J 2]

The gain in kinetic energy of the girl is less than the decrease in her potential energy:
Suggest one reason for this.

Beranre Ae @i\ 15 Aoling Lidn greades anoeqy

S0 € tatrentat ond Podenticdamerqy 1y s

roup of pupils make measurements to show that the girl's speed is constant during the
dle section of the ride.

jgest what measurements are made and how they show that the speed is constant.

Nooguthng jk’,\\o_\./&nq't\'vé, oi‘—[!ve-r% U'\d. <o bod o
R Tepe te ol .\’)E—m? M&uf{_&bq "r\\—QJr-'\ °{\'0-
W, o Q\-\wu\ A b wred ”PQ‘T M%%H@A i\\H.Q_

O‘\Lmu'h—_}% o *k\\e,:bm_g_,i}x

9 on a-uauwdr@- G\'{MQ [3]
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Paper 2 Theory

Examiner comment — grade C

(a) Only the first section of the graph drawn was correct and, even then, including 2.6 on the speed axis
makes this axis non-linear as 0, 2.4 and 2.6 m/s are equal distances apart on the y-axis. However it is
clear that the initial acceleration phase is uniform and ends at (3,2.4) and so one mark was awarded. The
general shape of the graph is correct with a straight line and a decelerating section, but the constant
speed section ended at 5 rather than lasting for 5s and the final deceleration phase took 3's, rather than
the 1s given in the question. (1/3)

(b) The answer confuses constant acceleration and constant velocity and does not indicate what is meant by
acceleration at all, and so no mark can be awarded. (0/2)

(c) No comparison of the deceleration and acceleration has been made. Had the candidate suggested that
the acceleration took 3s as well as stating that the deceleration takes 1s then the answer would have
made a correct comparison. (0/1)

(d) The calculation was very good. A correct formula was used and it was clear that the area under the graph
was calculated using a formula for a trapezium. Full marks were earned. (3/3)

(e) The formula was again given well in (i) and the left-hand side of the equationss, Ns a good symbol to use
for potential energy, in this case for gravitational potential energy. Full marks™are earned. The answer to
(ii) does not explain why the increase in K.E. is less than the decrease irfRE. and seems to suggest that
total energy is increasing as the girl falls. No mark was earned for (ii). (2/3)

(f) No sensible measurements of at least two distances and timed were made and the measurements could
not have been used to show that the speed was constant_in'ark of the ride. (0/3)

Total mark awarded = 6 out of 15
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Paper 2 Theory

Example candidate response — grade E

'9 A children’s ride consists of a steel cable that runs between two posts of different heights, as
shown in Fig. 9.1.

steel cable
\

Fig. 9.1

A girl starts and finishes the ride at rest. Her horizontal motion can be taken as
»  an initial uniform acceleration for 3.0s, followed by

* aconstant speed of 2.4 m/s for a further 5.0s and

» a final uniform deceleration that lasts for 1,0s.

(a) On Fig. 9.2, draw a speed-time graph of the horizontal motion.

9

speed
m/s

>

=]

time/s

Fig.9.2 [3]

(b) Explain what is meant by uniform acceleration.

Cﬂ[mggoxma.cnebmﬂ;funmamwémd.m
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{(c) Tha final deceleration is larger in size than the initial acceleration.

Explain how the data shows this.

@.16 molwo@ 2k, %L'hm omd. %M@% 0.2

(d) Calculate the horizontal distance travelled by the girl in the first 8.0s.

distance = &-wﬁ'ﬂ [3]

(e) (i) The girl has a mass of 30kg and falls a vertical distance of 1.6m during the ride.
The gravitational field strength gis 10N/ kg.‘

Calculate the decrease in gravitational potential energy of the girl.

decrease in poténtial energy = H%Q;r [2]

(ii) The gain in kinetic energy of the girl is less than the {lecrease in her potential energy.
Suggest one reason for this.

_l:"f ‘& M%o hW lem s etk st Hholamodle,. Maa....
JimekSe.. LIy &e:m‘c» . e S o)

(f) - 'A group of pupils make measurements to, stiaw that the girl’s speed is constant during the
middle section of the ride.

Suggest what measurements are made and how they show that the speed is constant.

A. Dreup. ol Fa "iﬂ«b Lo onada. mm.sxmn!ﬁ .....

\aﬁ A, 3\ SA0p. \wcdch....oael... By Andedmoy. Hon
n):e‘-l"ng_"mm Moake. "HL&.;Q-&& does.. P"n

%Lfrmmm 1% and... hy. c_hu,ﬂcmg %W

Qud....dirdazocs..0.X. Hng.. 'fmnpw(,o

. [3]
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Paper 2 Theory

Examiner comment — grade E

(a) There was an attempt in this answer to draw an initial straight line on the speed-time graph and a further
horizontal portion. However the values plotted on the time axis were wrong for each section, the initial
acceleration lasting for less than one second and the constant speed section being less than 5 s. The time
axis was non-linear with two squares representing the first second and then 2 seconds thereafter. This
meant that no mark was earned. (0/3)

(b) Although not well expressed, uniform acceleration is clearly defined as constant change in speed for the
first mark and the idea that the speed increases at a constant rate introduces the idea that the increase
is constant with respect to time and so two marks were awarded. (2/2)

(c) The candidate mentions that the graph should be used but does not say how. Had he compared the
steepness of the initial and final accelerations then a mark could have been awarded. (0/1)

(d) The answer provided is wrong and there is no working shown and so no credit could be given for this
answer. If the candidate had even provided a simple formula such as speed = distance/ time then a mark
would have been awarded. It is always sensible to show working and give an initial formula. (0/3)

(e) The answer provided is correct in (i) and so full marks were awarded, even without the formula or
working, although it is advisable to provide working. The statement in (ii) does not explain the difference
between the two values for energy and shows no understanding of the conservation of energy and
different types of energy. (2/3)

(f) The candidate does not provide any detail about the measurements that were made. It would not be
possible to follow the directions given in the answer to obtain a speed or show that the speed was
constant. It would be helpful if, when describing an experiment, candidates provide a logical list of the
readings to be taken, how they are taken and then how they are used to calculate the result or in this case
to show that the speed is constant in the middle section. (0/3)

Total mark awarded = 4 out of 15
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18 (a) (i)

(ii)

(b} (i)
(ii)

(e} (i)

(ii)

(iii)

(conduction occurs) through or in metal/pan or from water to metal/pan
or molecules vibrate or molecules collide
or (free) electrons (in metal) move

vibration/energy/heat passed from molecule to molecule clear

or energy passed on by electrons colliding (with atoms/molecules or electrons)

hot air or air over water rises or hot water rises
hot air or hot water expands or hot air or water less dense

black objects radiate heat more (than white)

(both) graphs higher (after start)
or temperature falls less (in same time)/slower
or takes longer to cool

less evaporation occurs or less convection

heat/energy to change the temperature by 1°£unit temp
heat/energy to change the temperature ¢% 1 kg/unit mass by 1°C /unit temp

long time to warm/boil water/cook
or scalds/burns when touched
or more energy needed (to wasmwater)

1. 34(°C) or 9460 seen
(m=) Q/cAT algebrai€ pr iumerical with any clear Q or AT
0.5(042) kg

2. 0.50 x 4200 x 54
110 000 or T4&(353)J

[B1]

[B1]
[B1]
[B1]

[B1]

[B1]

[B1]

[C1]

[A1]

[B1]

[C1]
[C1]
[A1]
[C1]
[A1]

[15]
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10 Two metal saucepans contain the same mass of hot water at the same initial temperature.
Pan A is white and pan B is black, but otherwise the two saucepans are identical.
Both saucepans are uncgfe’"’l’é‘d and cogl under the same conditions.
The cooling curves for the two saucepans are shown in Fig. 10.1.

100
q& W
temperature/°C N

80 p S

S T
60 RANES CPEe=cd pan A (white)

\‘.“‘\
40 S pan B (black)
20
0 ' 2 4 6 8
time/minutes
Fig. 10.1

(a) Describe how the water in a pan loses heat by

(i) conduction,

Covobuturs (oJus place w thy ool . MMubuEy ,pa,'.&,&,, md@

(if) convection.

Whas Wt wolsy sy ta womkod wdlh. - GE Lmngs b envdy,

o, . itk Dewoy Wk, lun olowat ol wttn: ol ain tplos.
(b) (i? Explain why pan B cools faster than pan A.
e Ml il ik
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(i) Describe and explain how Fig. 10.1 is different when the pans are covered and the
experiment is repeated.
o &

LOMJ Mo&w@m A;wm?mfbwulzb& gp_/;méa
uo%mmﬁawlwéwmé WWWM

(c) The specific heat capacity of water is 4200J/ (kg °C).

() Explain what is meant by specific heat capacity.

b maam  Us Wy&MMMJ ’w’lw
t Jw,ye. the lul,fmm&’m %' e umk  mess

(i) The specific heat capacity of water is very high. Suggest one disadvantage of this when
. water is used for cooking.

Aot of wole bles vey Lovg Gmi & boil i@ .
itk fool oy et fe  uobd e L.

by 8 et

(iii) The water in pan A cools for 8 minutes, as shown in Fig. 10.1. Durilygthis time, the water
loses an average of 9000J of thermal energy per minute.

1. Calculate the mass of water in pan A.

(3 ')’V\‘L&b@"
e
™M=
. DG
z e

ﬁ?‘.—%bu
MASS = wervrvneranenns O D 6?3 kﬂ-

2. The mass of water ifryian B is the same as that in pan A.

Calculate the \hermal energy lost from the water in pan B during the 8 minutes.
- m oh®
£ =0° 0EHRA 200 54

loss of thérmal-energy = l“\‘l%%“‘a 2]
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Paper 2 Theory

Examiner comment — grade A

(a) The candidate has produced a well-reasoned argument in (i) that explains the molecular nature of
conduction, in which molecular collisions pass on energy from one particle to the next. It is also clear
that this energy is being conducted through the metal pan. In reality, much of the conduction within a
metal will be due to electron movement but this molecular explanation was accepted for full marks.
The explanation in (ii) shows a good understanding of convection and realises that it is convection in
the air that takes heat away from the hot water. Many answers described convection in the water itself,
which was also accepted as it is part of the process. This answer also clearly explains that the air, when
heated, expands and becomes less dense and the answer does not rely on molecular explanations; such
explanations that state that a molecule itself becomes less dense when heated may not be accepted.
(4/4)

(b) The answer in (i) merely states that black is a good emitter of heat, and the mechanism of the heat
loss was not stated. The answer would be improved by stating that black surfaces are better emitters
of infra-red radiation or radiate heat better than white surfaces. In (ii) the candidate has decided that,
when covered, the black surface cools faster than the white surface, whereas the obvious difference, in
the actual graphs, is that both pans will cool slower than in the original experiment. There is no physical
explanation provided for the candidate’s assumption that, when covered, black surfaces emit less heat
than white surfaces. (0/3)

(c) The definition provided in (i) was accepted for full marks. There is, in this answer, a mixture of statements,
such as “unit mass” rather than 1 kg and “1°C’ rather than “unit temperature rise” Either of these different
forms or a mixture was accepted. In (ii) a sensible practical occurrence was described when it was
suggested that water will take a long time to boil. The extra detail, that food may not be cooked on time,
was not necessary, but shows that the candidate was considering the practical situation and was not just
relying on knowledge of a definition. The calculation in (iii) 1. was set out very well with a formula and
with numbers taken from the graph clearly set out. The only error was not to realise that the total energy
supplied is 8 x 9000 and not 9000 alone. Because the calculation was set out so clearly, only one mark
was lost for the omission of the factor 8. The value of the mass calculated in (iii) 1. was used in (iii) 2.
to calculate the loss in thermal energy. Full marks can be scored in a section that relies on numbers
calculated in an earlier section and so this answer scored full marks. The answer is quoted to far more
significant figures than can be justified by the data in the question or by the numbers read from the graph,
but there was no penalty exacted. (7/8)

Total mark awarded = 11 out of 15
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10 Two metal saucepans contain the same mass of hot water at the same initial temperature.
Pan A is white and pan B is black, but otherwise the two saucepans are identical.

Both saucepans are uncovered and cool under the same conditions,

'!;he cooling curves fqr_ the two saucepans stré shown in, Fig. 10.1.. - "

¥ 5 os s ke . S t 'J"»"‘ Ty 2 . By b

1001,

}g,: T : g 5 : B : 5

temperature/°C

60 EA A == pan A (white)

i

40 5 == pan B (black)

20

0 2 4 6 . ]
. Aime/minutex ;

Fig. 10:1
(a) Describe how the water in a pan loses heat by
(i) conduction,
_tonduchan 5y wory o, oot Natethon: Tooiic: beaks o \muel
Eva‘—f:mgh “the. Vsl 3 muemh. A;-\\NL mlazldes v,gal-e,-l-o’
tollide , kinati C!'\G'va u\ueqm @ 1@3,d& QD&& Ci) heat ™

(if) convection.
T corvethon § *mi 1. bonsmited Yroma. pas o anolker ﬂ-\mj’k
The ‘movehanit LS wokuden & “heroeleniles Ye?ﬂim} lif;;l Letome
kﬂ o\'ens& Lt 0 Thaiphes, mﬂleuﬂpesmu?m
) ) Explam 'why pari B cools fasterthan pan A.
it 8 eotlh. Jpster. clusl . mmvwhs ol Wack
o .&gfhaw*Cl(e_\\"C%OOdGbr_odii%@od‘ld\’fm (1]
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(ii) Describe and explain how Fig. 10.1 is different when the pans are covered and the
experiment is repeated.

‘U‘fﬁ‘"ﬁFﬂﬂgm"‘hﬂﬁﬂvﬂﬂﬂl%hwiﬁmﬂ?%&?w

; sl b2 absokedt
uill...engale hinderent | aodin..pan. B dke ap Wil ineigast

(c) The specific heat capacity of water is 4200J/{kg °C).

(i) Explain what is meant by specific heat capacily.

Bt . ek Sretoy wqphod 5 ke B
‘?-b Aka s Qubé.}'ﬂhax o Ak 9 B meas.cnrea{

(ii) The specific heat capacity of water is very high. Suggest one disadvantage of this when
water is used for cooking.

Qﬁ‘: uoull l:fpl‘ _.mote cvd(’,klj ua’ﬁa\c\r\c! M&QAE ;Feco

(iii) The water in pan A cools for 8 minutes, as shown in Fig. 10.1. During this time, the water
Iases an average of. 8000J of thérmal energy per minute.

1. Calculate the mass of water in pan A.
@ = fﬁ&&a
Yoooe N0 X 8
Guoe =X BBLOS
00& = MY
34,00 ,
- Op2b! '
e .B P‘N’ mass = @*&%@ae"a"’q [3]

2. The mass of water in pan B is the same as that in pan A.

Calculate the thermal energy lost from the water in pan B during the 8 minutes.

@ =) C b
D= ©@p2NT A 200 X8

Q= s B

1 -

WAoo 89 2., 2]

loss of thermal energy = ... R i e,
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Paper 2 Theory

Examiner comment — grade C

(a) In (i), the answer clearly describes the vibration and collision of the molecules but it is not clear that
energy is passed on from one molecule to the next during such a collision and so only one mark was
scored in (i). It was also not clear whether the molecules involved were in the water or in the metal and
it is helpful for candidates to apply descriptions to the actual situation involved in the question. Similarly,
and more importantly, in (ii) it is not clear whether the molecules involved in the convection of heat are
in the water or in the air and this is not a full answer and also only scored one mark. (2/4)

(b) In (i), the candidate has stated that black is a good absorber of radiation. Whilst true, the question is about
the emission and not the absorption of heat. More thought about the question and more experience
with practical situations might have helped the candidate to realise the difference between these two
processes. In (ii), the question asks for a description and an explanation. The candidate finishes with a
partial attempt at a description by stating that the temperature in pan B “will increase more” Had the
answer stated that the final temperature in pan B is higher than in the original experiment this would be
accepted but this answer clearly suggests that the temperature in pan B has been rising and not falling
and this was not accepted. The answer starts with an explanation that covered pans radiate less heat but
the major reason is that less heat is lost by convection or evaporation and this exgianation was not given
a mark. (0/3)

(c) The definition was given full marks in (i). The temperature rise was quetea*ds 1K° rather than just 1K
but this was accepted. Candidates should be careful, however, to quote€mperatures as, for example,
10°C rather than 10 C°. The unit quoted for specific heat capacity=was incorrect but this detail was not
asked and was not considered to contradict the definition. In (ii) %Qg’ candidate has wrongly stated that
the water will boil more quickly. In (iii) the first mark was awaided for the formula but it appears that the
time quoted was taken as the rise in temperature and so n§ fusther marks were given. No unit was given
for the answer and the answer was rounded incorrectly¢from 0.2678 to 0.267; candidates should always
give a final unit in a calculation and attempt to round correctly. The same types of error occurred in (iii)
and there was also an arithmetical mistake in theg/fimaiCalculation. (3/8)

Total mark awarded =5 out of 15
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10 Two metal saucepans contain the same mass of hot water at the same initial temperature.
Pan A is white and pan B is black, but otherwise the two saucepans are identical.
Both saucepans are uncovered and cool under the same conditions.
The cooling curves for the two saucepans are shown in Fig. 10.1.

100

AL
y

temperature/°C ~
80 >

I
/.

— pan A (white)

60

[l

40 =~ pan B {black)

20

1] 2 4 6 8
time/minutes

Fig. 10.1
(@) Describe how the water in a pan loses heat by

(i) conduction, -

g euky. 0. 4. 0om. Jogk. beak. b Canduchiom. ThHE..
nead emergat ok Jhe waler malecrls 14 absorbed by

(ii) convection,

Theww\mapamlaéeéhembaammhwCwmhm
uxventd ave fed i wiadey due Ao difyemes oo demsi Hek

Cuvvends .

ok Vavioud Paris o waky . Heat 14 \och due Ao conveckion . . [2]

(b) (i) Explain why pan B cools faster than pan A.
Pom B cools fas\ey because b 18 Black amd .

Rlack calguy emit4 oore head o4 comfoved o while . )
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(i) Describe and explain how Fig. 10.1 is different when the .pans are: covered and the
experiment is repeated.

PA_dhe Coms. would e caered s head 14 las.JrMm dhe
/Su.lr’vawndmrﬂ'ﬂ- fon A will coof ;ia&ley ecauser bon B £

cgucyed with 4wl absord. more heat amd il emf@. o

will imcrease -
(c) The specific heat capacity of water is 4200J/ (kg °C).

(i) Explain what is meant by specific heat capacity. —

_The amam 4+ of nect emexgu Vequved 40 dhe

Yaide. the temp of . lk% ot a. Aubslona bdd 15E. Usl?grﬂu{
balisC.

@Agfegﬂr_ head Ca@(:;l'd T4 it (AL TH?%C and 24" 5

(ii) The specific heat capacity of water is very high. Suggest one disadvantage of this ysen
water is used for cooking.

T4 bal,f/s uar,a U‘%(GHAL‘JA qufﬁ;ma hayom N
X0 e 5“"*’0*”‘5“’“;& SO OO £

(ili) The water in pan A cools for 8 minutes, as shown in Fig. 10.1. Duriad this time, the water
loses an average of 90004J of thermal energy per minute.

1. Calculate the mass of water in-pan A.

cools Lov b mimg Cools Lov Gomims
Qooo I Imim 6oca T } mim
qGoaxB =1 Zooc §
L0000 @
Mass = TN CH0
oo
- 'i 2
ass = ‘121 [3]

2. The mass of watqr ifipan B is the same as that in pan A.

Calculate the Warmal energy lost from the water in pan B during the 8 minutes.

N Emuﬂad diga {)adeol: T2RT

G mimg Erwﬂ'&& Log+ BQ Pap- — Pon B
1000 3 %% 12060 — Y4ooo
|6 coo Tiz
‘booo N
loss of thermal energy = léﬁﬂﬂj 2]
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Paper 2 Theory

Examiner comment — grade E

(a) The answer in (i) clearly indicates that heat is absorbed by the wall of the saucepan and this was taken
as a description of conduction through the metal pan and awarded the first mark. There was no further
description of the process and candidates, when answering a question worth two marks, should give
more than the simple detail that is present in this answer.

The answer in (ii) starts by repeating the question which does not earn any credit and reduces the space
for the actual answer. A difference in densities was mentioned but this was not sufficient as the particular
difference in densities was required. The question asks for a description and this should involve, in this
case, what might be observed to happen. (1/4)

(b) The answer in (i) needed to mention radiation or infra-red, rather than just black emits more heat. The
answer in (ii) wrongly suggested that pan A cools faster when covered. There was an attempt at an
explanation by the statement that ‘heat is not lost’ but more detail was required, for example that there
is less convection of heat or less evaporation. (0/3)

(c) The definition in (i) was well expressed and earned full marks. The idea expressed in (ii) was incorrect
and the candidate might have thought more carefully as to the real meaning of specific heat capacity. In
the calculations in (iii) the formula was not quoted and neither was the graph used to find the difference
in temperature and so no mark was awarded. (2/8)

Total mark awarded = 3 out of 15
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11 (a} ammeter and voltmeter correct symbols B1]
ammeter in series with lamp B1]
voltmeter in parallel with lamp B1]

(b} R limits or reduces the current/voltage B1]

otherwise lamp blows

or more of the 50 () can be used to adjust voltage/current B1]

(c} (i} 12V, 0.25A correctly plotted (by eye) B1]

curved line from origin B1]

correct curvature — decreasing slope B1]

(i} straight line (for fixed resistor) B1]
lamp has changing temperature or changing resistance

or fixed resistor has constant temperature or constant reGistance B1]

(d} (i} (7 =)V/Rinany algebraic or numerical form, e g. 12750 [C1]

0.24A [A1]

(i} 0.49A [B1]

(iii} 6(.0)V [B1]

(iv) 12(.24)Q [B1]

[15]
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aper eory

Example candidate response — grade A

11 A student sets up the circuit shown in Fig. 11.1.

LN
\/
R
—_ WY
18V : movable
s . /contact
sif= /
500 47
filament
T lamp
Fig. 11.1

R is a fixed resistor in the circuit. The filament lamp is marked 12V, 0.25A.

The circuit is used to produce a current/voltage graph for the filament lamp. The ammeter and
voltmeter needed are not shown,

To obtain different readings, the student changes the position of the movable contact.
(a) On Fig. 11.1, draw the symbols for an ammeter and a voltmeter in the correct positions.  [3]

(b) Explain why it is sensible to include the resistor R in this circuit.

A8 prevenk Yae. \ouge omounk sy cuweud toow

Xl wec:“ul-{e menk o ;?lotmeu&-‘ '\MP ¥ evledin e

...........................................................................................................................................

(¢) (i) On Fig. 11.2, sketch a current/voltage graph for the lamp.

A
0.257 /
current/A ;.3 S
o 'Is_" .
O o //_,_..f
o o1 _/"'-
D eme=— T ; S
0 4 8 12
voltage/V
Fig.11.2 [3]
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(i) State and explain how a current/voltage graph for a fixed resistor is different from the

graph for a fllarEent lamp.
ﬁL W\ust“ e x.rmi‘h): lee L BeStTo ?a./.n ;hca "gz'l‘voueﬁ
S‘nows O ot LU -

. [2]

(d) Fig. 11.3 shows the position of the movable contact when.the voltage across the lamp is 12V
and the current in the lamp is 0.25A.

R
e |
8V |
— — -
50Q
T 12V, 0.25A
Fig.11.3
Determine
(i) the currentin the 50Q resistor,
V= IR
M= 1!
3 <o
o236 p-2Y ﬂ

CUTPONE =y i viiesarvmimsniaiasshusis sawanss aimcia. |2}

(i) the currentin R,

VR

T -1¥0
Loereh o2 B [1]

CUIrent = ..iiccisiainiasicenne

(iii} the potential difference (psl.) across R,

p.d.

(iv) the resistance of R.

Wt 2S5

TBSISTANCE = ..viisssssresseissssissaissssnssisnmssrnssnansrivsives [ 1]
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Paper 2 Theory

Examiner comment — grade A

(a) The correct circuit symbols for an ammeter and voltmeter were both shown and the voltmeter was
correctly placed across the lamp. However the ammeter does not measure the current in the lamp itself
and so only two marks were awarded. (2/3)

(b) The candidate sensibly suggested that the resistor reduces the current in the lamp but a little more detail
was required for full marks, for example why it is necessary not to exceed the lamp rating. Really good
answers suggested that the resistor limits the maximum voltage that can be placed across the lamp or
that all of the variable resistor can then be used to make adjustments, rather than only 2/3rds. (1/2)

(c) The graph drawn in (i) earned two marks for showing a point that was taken as (12,0.25) and being
curved. The graph however curves in the wrong direction and would involve a decrease in resistance with
an increase in temperature. In (ii), there was a statement as to how the graphs differ, one being curved
and the other not but there was no explanation and so only one mark was awarded. Candidates when
asked in a question to state and explain should know the difference between these two command words
and structure their answer accordingly. (3/5)

(d) In (i), the correct formula was quoted and the correct values used. Many candidates incorrectly used
18 V as the p.d. across the lamp. In (ii), the same answer was quoted as in (i), whereas the current in

the resistor R is the sum of the current in the 50Q resistor and the current in the lamp. Other answer in
(iii) and (iv) were correct given the error that had been made in (ii) and scored full marks. (4/5)

Total mark awarded = 10 out of 15
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Paper 2 Theory

Example candidate response — grade C

11 A student sets up the circuit shown in Fig. 11.1.

R
— T :
18y movable
B =B contact
500
%)
L)
Fig. 111

R is a fixed resistor in the circuit. The filament lamp is marked 12V, 0.25A.

The circuit is used to produce a current/voltage graph for the filament lamp. The ter and
voltmeter needed are not shown.

To obtain different readings, the student changes the position of the movable c@c!.
(a) On Fig. 11.1, draw the symbols for an ammeter and a voltmeter in @:qrect positions.  [3]

(b) Explain why it is sensible to include the resistor R in this circui\

TQ%WAMMWEQ"**R%%M

........................................................... [2]
(¢) () On Fig. 11.2, sketch a current/voita for the lamp.
b 0O
0.251
current/A s
4 _ /./
0 - . — -
0 4 8 12
voltage/V
Fig.11.2 [3]
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(i) State and explain how a current/voltage graph for a fixed resistor is different from the
graph for a filament lamp.

PR et Sk e b Sy b
LHC Dy W We matrer b Nxed eed Moeadi

e

(d) Fig. 11.3 shows the position of the movable contact when the voltage across the Iamp is 12V
and the current in the lamp is 0.25A.

!

............. osssssessviivs 1)

R
— i
18V !
—_— -t
50Q
T 12V, 0.25A

Fig.11.3
Determine

(i) the currentin the 502 resistor,
Vo TR .
g =T xS

Yk B 1_%._ = 3% cument= . O30 A [2)

) 50
(i) thecurrentin R,

W —el\r—tmr}- .

ey L B W R |

(iii) the potential difference (p.d.) across R,

Sheve, G
p.d.= |@V [11

(iv) .the resistance of R.
V= TR -
\% z 896 * R
18 . g Rz 0

= TOSISIANGE = wuiiisisii s vosearsssns isisssanasissnssnssispuseasaves [1]
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Paper 2 Theory

Examiner comment — grade C

(a) The circuit symbols for both the ammeter and voltmeter were correct and both were in the correct place.
The candidate clearly understands that these meters will be measuring the correct quantities for the lamp
itself and full marks were awarded. (3/3)

(b) The explanation provided was not clear enough. Had the answer suggested that there would be a greater
range of movement of the moveable contact to achieve 0 to 12V then credit would have been given but
the resistor does not itself affect the accuracy of any reading on the meters; indeed it will reduce the
current and decrease the percentage uncertainty in the reading. (0/2)

(c) The graph drawn in (i) was given one mark as it was taken to pass through the correct working p.d. and
current for the lamp. It was not however curved, as it should be for a lamp and this affected the answer
to (ii) which could not be given any credit. (1/5)

(d) The calculation in (i) uses the correct formula and was given the first mark but, unfortunately, the
calculation uses the whole of the e.m.f. of the battery as being across the 50Q resistor and so full marks
were not earned. In (ii), the same answer was quoted as in (i), whereas the curgant in the resistor R is
the sum of the current in the 50Q resistor and the current in the lamp. The cangdigate’needed to consider
more carefully the p.d. across the various components in a series circuit as el 18V cannot be across
one component, as was stated in (iii). The final calculation in (iv) corregtly Ge€d the values obtained by
the candidate in previous sections and was awarded the mark. (2/5)

Total mark awarded = 6 out of 15
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Paper 2 Theory

emai | :

Example candidate response — grade E

11 A student sets up the circuit shown in Fig. 11.1.

P
Va¥)

50Q

——movable

_contact

Fig. 11.1

nmegal ect ur e@nui |

filament
lamp

R is a fixed resistor'in the circuit. The filament lamp is marked 12V, 0.25A.

The circuit is used to produce a current/voltage graph for the filament lamp. The ammeter and

voltmeter needed are not shown.

To obtain different readings, the student changes the position of the movable contact.

(a) On Fig. 11.1, draw the symbols for an ammeter and a voltmeter in the correct positions.  [3]

(b) Explain why it is sensible to include the resistor R in this circuit.

e

...f.?:lnlrol@cﬂ ...... cmocmt..of...C

(c) (i) On Fig. 11.2, sketch a current/voltage graph for the lamp.

A
0.251

current/A

sef ¢

Grecdle.... ... pealiced. _Au:.n?f:cr.?...ﬂJ prRrent.. ﬁzﬁsj ..............

-

Fig. 11.2

8
voltage/V

2.7

(3]

. con
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(ii) State and explain how a current/voltage graph for a fixed resistor is different from the
graph for a filament lamp.

@orpamm[ }0 lk@ chrenh bu} ﬁam@nlr famp cﬂaoxﬂf o}:rgf @}:mﬁts

[cew sk S{;Pg oleclon. fow Whan  hoedes?  enel Velleste . Ao ‘*”*“ES]

Cxeeectec.

(d) Fig.11.3 ,Sirmws the posmon of the movable contact when the voltage across the lamp is 12V
and the current in the lamp is 0.25A. -

‘ R
==
18V« ! T
L AT '___=
i 509 = :
7|_ 12V, 0.25A \ 5
| | T iR
Fig. 11.3
Determine Q" 7 % V

(i} the currentin the 50 Q resistor,

0= it Re
Roe= Lx 6V

d

I:%& & o '7; r7 current = 'J&_AZ'-?SA [2]

(if) the currentin R,

current = g’O%A [1]
(iii) the potential difference (o.¢l. pacross R,
(iv) the resistance of R. '
resistance = SH:BQ.. 1]
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Paper 2 Theory

Examiner comment — grade E

(a) One mark was awarded for both the correct circuit symbols for an ammeter and a voltmeter, but no more
marks could be awarded as these meters were both in the wrong position. (1/3)

(b) The candidate made a suggestion along the correct lines, but the resistor R does not control the current
in the lamp, it limits or reduces this current. Control of the current is undertaken by moving the contact
on the 50Q resistor. (0/2)

(c) The graph drawn in (i) was given one mark as it was taken to pass through the correct working p.d. and
current for the lamp. It was not however curved correctly, being two straight lines; it was expected that
any initial straight line would not continue past 10 V. Mentioning ohm’s law in (ii) was not helpful, but it
was clear that, for a fixed resistor, that current is proportional to voltage and this was taken as indicating
that the fixed resistor should produce a straight line graph. The explanation of what happens in a filament
lamp was not accepted as the rise in temperature at higher voltages was not clear and the description
that electron flow is stopped or that voltage flows was unclear. (2/5)

(d) The formula used relating current, voltage and current was incorrect in (i). It is sensible for candidates to
start by writing down initially the formula that they are sure of and then rearranging it later, if necessary.
No credit was earned from such a wrong start to the question. The candidate did however earn a mark in
(ii) as the answer given was the sum of the value given in (i) and the current in the lamp. The working has
not been shown but it appears that the candidate has understood that the current splits at the junction of
the lamp and 50Q resistor. The calculations in (iii) and (iv) had no working and were incorrect or had the
wrong units. (1/5)

Total mark awarded = 4 out of 15
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1

(a} (i} correctlength clearly marked

(ii} any one from
rod moves in the water
does not float vertically
sides of the beaker obstruct
clear explanation of why parallax error occurs here

(iii) Practical method stated, e.g.
1. mark water level on stick
2. mark scale on stick
3. ruler held in clamp/close to beaker/close to rod
4. length measured using a caliper

Clear practical detail, e.g.

+ remove and measure

+ before placing in water/note water level

+ view perpendicularly/subtract two readings
+ depth measurer on caliper

ol

(b} (i} axes labelled quantity and unit

scales linear y-axis: 2cm =¥/Cm
x-axis: 2cnf =\2

points plotted accuraizlywvithin %2 small square
best fit straight.line drawn
(i) negative gragient/ decreases as N increases inverse relationship
AN a Alliear/straight line/constant gradient
(iiiy 11
(c} any one from
same mass/weight

mass/weight increases by same amount each time
fair test/fair comparison
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[B1]

[C1]

[A1]

[B1]

[B1]

[B1]
[B1]
[B1]
[B1]

[B1]

[B1]

[12]
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Paper 4 Alternative to Practical

Example candidate response — grade A

1 A student investigates a floating wooden rod.

The wooden rod is placed in a tall beaker. A rubber band around one end of the rod makes it float
vertically, as shown in Fig. 1.1.

rod—___ |l |\,

rubber
band —q

water—__ |
fi= | ___-tall beaker

Fig. 1.1 (not to scale)

(a) (i) On Fig. 1.1, mark and label the length [ of the rod above the water. (1]

(i) Explain why it is difficult to measure L
MO&\Q'&-" ....... e coamdeinad. N5 Ve et el
swoded Lol e N/Qn, Aot k@aq{m.nm..ip&% 1]

\.JM wo\ ‘o RN
(iii) Describe a method of measuring Iaccurately.

Dseon fidan. ood Kool on close on esai e/
o o sMe. of ke Cund Bieadln Heeplive. ok St Migndoly

A2 C:,c.o&&.. ok dnle. Am&«w{efpfo‘—— ....... boHev o s@..miﬁm&..[zj
QQQQ (o & t‘u‘* o e ye o4 Ll ose o5 periide
(b) The sludent increases the number N of rubber bands on the bottom of the rod and measures
[ for each value of N. Fig. 1.2 shows the student’s results.

N | l/cm

1 8.5

3 6.8

5 51

7 3.5

9 TR |
Fig. 1.2
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(i) On Fig. 1.3, plot the graph of l/cm on the y-axis against N on the x-axis.
Start your graph from the origin. Draw the line of best fit.

Y S
(2]

skissaninais

Linead

foxlenad -

et poret
T

)

.13

Fig

N
LSove

N 1N Clesses

(ii) Describe the relationship between [and N
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Paper 4 Alternative to Practical

()

(iii) Use the graph to estimate the smallest number of bands needed to sink the rod.

number of bands = \\.[1]

Explain why it is important to use identical rubber bands.

S VST EE VIPURR N S L X N N N
SR STC L 70 RTINS X RVE 73 SO0 GIVC) SN 570 N S,
S O N T N .V S PO O (N A

1]

Examiner comment — grade A

(a)

(b)

(c)

This candidate gave an excellent response to this question and scored full marks.

(i) The length of the rod was clearly marked with one arrow just touching the water and the other at the
same level as the top of the rod. It is advisable to use a sharp pencil when indicating a length as the
examiner is looking for precision.

(i) An explanation of how the sides of the beaker obstruct the measurement was given.

(iii) A practical method was explained with detail i.e. the ruler is held close to the beaker and the line of
sight is perpendicular to the scale. There are two marks for the question and the candidate should
be looking to make two valid points here. (4/4)

Full marks were scored for the graph — the axes are labelled correctly, a sensible and linear scale is used
on both axes, points are plotted accurately within half a square and the line of best fit is acceptable. Again,
a sharp pencil is advisable when plotting points and a precise cross is better than a dot as some dots are
too big and lose the mark. The trend of the graph is fully and correctly described in part (ii) i.e. the graph
was linear but not showing an inversely proportional relationship. Some candidates incorrectly stated that
the relationship was inversely proportional and so they lost the second mark here. The candidate then
correctly extrapolated his graph in (iii) to estimate the number of bands needed to sink the rod and also
realised that his answer must be a whole number greater than the point at which his line met the x axis.
(7/7)

The examiner is looking for the idea of a fair comparison here. Many candidates stated that the accuracy
or the reliability of the experiment would be improved but this was not awarded a mark unless a further
correct comment was made. This candidate explains that the identical rubber bands will have the same
mass and does gain the mark. (1/1)

Total mark awarded = 12 out of 12
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Paper Alternative to Practical

Example candidate response — grade C

1 A student investigates a floating wooden rod.

The wooden rod is placed in a tall beaker. A rubber band around one end of the rod makes it float
vertically, as shown in Fig. 1.1.

rod— 1| |\,
rubber
band \“‘\'
water
xﬁ"‘{* | tall beaker
Fig. 1.1 (not to scale) O®
(a) (i) On Fig. 1.1, mark and label the length [ of the rod above the water. () (1]

(i) Explain why it is difficult to measure L

LT s becouse. Xae god . wild. e@%
S e Youth. Mae..wead e, ojhndef L&b
(iii) Describe a method of measuring [ accurately.
- Plase... Ahe. o in. tne. so@). Mmk’t\ua end..of. the...
sm&ce Lomu0q.out...of .. \JQ’&EI s @ (wokei piodd). rﬂm\fef
Toke..oul. Yee. Nad...and. X csole measure e BU madk \r‘ﬂtk [2]

(b) The student increases the nu f rubber bands on the bottom of the rod and measures
[ for each value of N. Fig. 1.2 the student's results.
" i

I/em
1 8.5
3 6.8
E; ] -5.1
7

9

35
1.6

Fig. 1.2
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Paper 4 Alternative to Practical

L/em

() On Fig. 1.3, plot the graph of l/cm on the y-axis against N on the x-axis.

Start your graph from the origin. Draw the line of best fit.

A

(ii)

T r EEEEa

: L

| Bl W [

5 I S GBS S EEENE ), SNEE NSRS

1 O Y O B, S 4 W
0

¢ e B UK G g g 6 3 e
N (4]

Fig. 1.3

Describe the relationship between [and N.

......... L.....l.$.......{.O..\a{EF.E:I.E.,L.L.i.....ﬁ).i.agni.h.i}fm&......{Q....N......u,ﬂd.....ﬂ'n.u’................
.,...3iu.d».£n'lh.....o.g......’.L\m........cy.c».gm.\r.\......L&....‘.c.om..{.%k‘_:....._..................‘..{2]
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Paper 4 Alter native to Practical

(iii) Use the graph to estimate the smallest nymber of bands needed to sink the rod.
aucber of bonds needed are 1L _

AUMBEF OF BANGS = .vvvvvvereseese ke Arurerscnsssnsemssssessessssssssssssess 1]
(c) Explain why it is important to use identical rubber bands.
LI is.dmperdant. do...ose.. fdecheal rubber. bands.. In.......
ordec...ko..geboa.. Aecorobe...Cegual) reacking.. “D(ﬂemnh..{%f:a...
o e bone\b ey hove.. d«{?@fenE 0NSS..0X. sloLurm:
Lt coulch {;\%’Eeﬁi ‘“/\Q Tea&lﬂ%b IS )

Examiner comment — grade C

(a) (i) The mark was not awarded here as the tip of the arrow is seen to be higher than the top of the rod.

(ii) The candidate has clearly explained that the movement of the rod will mekenit difficult to measure
the length and the mark was awarded.

(iii) The candidate described a practical method of measuring I correctlys=end scored both marks. (3/4)

(b) This candidate scored three out of the four available marks for the'gfabh. The axes are clearly labelled and
a sensible, linear scale is used on both axes. The points are pficisely plotted with small dots gaining the
third mark. However, the line of best fit does not score the nyark. The candidate should aim to draw his
line as close to as many of the points as possible. Sofgetimes this may result in the line missing some
points in which case, the line should aim to have @& mafy points below as above it. However, in this
case the line could be drawn to go through (or veny ®se to) the majority of the points and this should
have been done. One mark is awarded in part (ii) %ar'describing the relationship as inversely proportional.
This is not strictly correct and would have nrevented the candidate gaining both marks if he had scored
another correct marking point. However it @oks show some understanding that one variable increases as
the other decreases so it is given one naliis, The candidate correctly extended his line in part (iii) to meet
the x-axis and correctly recorded hit answeér as 12. This gained the mark (error carried forward). (5/7)

(c) The candidate stated that it is invportant to use identical bands to get an accurate reading. This is not
enough to get the mark. HQwaeyver, he goes on to explain that different bands may have different masses
and so gains the mark . TF4

Total mark awardeq= 9 out of 12
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Paper 4 Alternative to Practical

Example candidate response — grade E
1 A student investigates a floating wooden rod.

The wooden rod is placed in a tall beaker. A rubber band around one end of the rod makes it float
vertically, as shown in Fig. 1.1.

rod— _ L

rubber
band T4

water
‘-\—-___\
| tall beaker

Fig. 1.1 (not to scale)

(a) (i) On Fig. 1.1, mark and label the length [ of the rod above the water. (1]

(ii) Explain why it is difficult to measure L
i B e e ) Pa;l’alé!.&....ﬁf(om ...... SRy
l’dl(lé.-&wﬂat ....... b ¢ FJQQQZMC]QQQAFOS&LL{U

(iii) Describe a method of measuring [ accurately. Y t,r.b'cal,)/ bwo{i the

it Sk Squaten....0Miga... 4. The. fo . end.

e} Do el a0 gt ohoe. e waler...

(b) The student increases the number N of rubber bands on the bottom of the rod and measures
I for each value of N. Fig. 1.2 shows the student’s results.

N l/em
1 8.5
3 6.8
5 = ;5.1 [
7 3.5 ]
9 18

Fig. 1.2
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Paper 4 Alternative to Practical

(i) On Fig. 1.3, plot the graph of I/em on the y-axis against N on the x-axis.
Start your graph from the origin. Draw the line of best fit.

q _1’,_ I B 5 Y O O O I L i { A
T S [ | .
H ! A i
} 1 I o
- + t
[ -+
| N | 1 L i
11 || |
T 1 T =
- =
{
Tt i
= 14 4
] - REd
t T
1 1 ittt 1
| 110 111 11 N
sEEEinEaas
T B SR
55 N I 1 +t O O S i 1 T
\"._. e s oo e Al
111 1 | i1
3 I 1 L v}
TN Ll 1 I
5;{1, 1 N
N HHHEE
i N Eas 2T
LA 1 !
TN AE &,‘ 1
L e b ., 1
EEEN T
| T 11 T
I [ 0 i
1 1 LEL! I |
I I IS 2K
' - bl
H } THt
| 1 !
L1 |
1 | |
T I 5 |
111 i % I 1
1= :
1l 1
1 [ T N ]
1 ] 1 - T
=i T | ]
vl - ER VB I
T @ T
¥ JI_ 1 %1 1
t - kT I
.-I 1] _L
i ¥ | 1 ¥
| 1 i
rI 1 3 '
| i
t 1 H 1
4 LY E i 1| }
g i REEE !
1 T I 1
| [ 1 H
1 i i 1
= | i i 1
4t -
A g S - o
{ oo} q/ s i

[4]
Fig. 1.3

(ii) Describe the relationship between Zand N. Uik 0& e fecan)

4 S : . M : ﬂcn ........................ by T

ks iavetely. fofibined fo N @
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(iii) Use the graph to estimate the smallest number of bands needed to sirik the rod.

number of bands = .2[1]

(c) Explain why it is important to use identical rubber bands.

So%ofz,uﬁCaﬂﬂg{’Ec;qu«
Mu-hammfofpie&’e%am ...... lmj,ﬂiakom
wﬂ/&fo][ﬁm!_m;}mcfeﬁaéﬁsdtmum&lfﬂ]o

(a) (i) The mark was not awarded here as the tip of the arrow is seen to be higher than the top of the rod.

(ii) Parallax error alone would not have scored the mark here but the candidate goes on to explain that
this is because the ruler cannot be placed close enough to the rod and so gains this mark.

(iii) One mark was given here for using a ruler beside (close to) the rod to make a measurement.
However, the use of set squares as described would be difficult in this case and the candidate has
not explained how the length measurement would be obtained so the second mark was not given.
(2/4)

(b) This candidate gained one mark for labelling the axes on the graph correctly. The x axis scale is divided
up in increments of 1.5 and this makes it almost impossible to correctly plot points. Consequently,
the following two marks cannot be awarded. Candidates should aim to use a sensible scale (avoiding
multiples of 3, 7 etc.) and to fill as much of the graph paper as possible. The mark for the best fit line was
not awarded as more points are above the line than below it. The candidate correctly described the trend
as Nincreases / decreases but does not gain the second mark. No mark is awarded in part (iii). (2/7)

(c) The candidate states that identical rubber bands will increase the accuracy of the experiment which does
not gain the mark. (0/1)

Total mark awarded = 4 out of 12
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(b}

(c)

(d)

(e)

current cao

any one from

(low resistance) does not decrease current (much)

high resistance would decrease the current

(low resistance) ammeter reads a large(r) value (than high R ammeter)
current is high(er)

very little p.d. across it

0.67 A cao

any one from

no parallax error

needle does not stick

easier to read / measure (current)
easier to change range

lower resistance

(i} currentis same in series circuit/no junchons/single loop

{ii} any one from
meters not identical/exactly the sante
zero error in meter
different calibration/calibration eror

[B1]

[B1]

[B1]

[B1]

[B1]

[B1]

[6]
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2 A student investigates the use of ammeters in a circuit.
(a) State the quantity measured with an ammeter. _
(b) Explain why it is important for an ammeter to have a low resistance. .
Lse.dek ik dess o k.. affead. e ok Sonk Fledivar
A edCaun ks W Serishence..  den Craspocutienk. (1]

(¢) Fig. 2.1 shows an analogue ammeter.

~ ™

+ O 0.5
' O 0 A 1.0

Fig. 2.1

State the reading on ﬂlg ammeter.

reading = O(??As[ﬂ

(d) A school has both ‘dAiaital and analogue ammeters.
Suggest one advantage of using a digital ammeter rather than an analogue ammeter.

\wount, Ao el B4 9ol
el e 4 ok ge-;:&o% st el se. dged. oua e

(e} Fig. 2.2 shows a simple circuit.

ﬂﬂ'-(l'-;- Fig 22 4

« t l’ .
L
A student connects three similar ammeters at X, atY and at Z. The ammeters give slightly
different readings.

(i) Explain why all the ammeters should give the same reading.

Should atve. . Saue... fmi% Lo N SR e GAteot e

cwaSed doer sot-  deudde ek s semp.. Wmﬁﬂmwﬁ'%“mm'

(if) Suggest a reason for the slight differences in the three readings.

Mealess. s hase..... eV BTechtet.... dit. saeflns etdbens
Mede.. tod w—o&\mu} 2040, \onfele sesterig ohtend s . <[]
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(a) Correct answer of current. (1/1)

(b) The response required here is that a high resistance would decrease the current and this candidate has
clearly stated this. (1/1)

(c) The candidate needed to read the scale accurately to gain the mark here. No margin of error was allowed.
(1/1)

(d) The candidate correctly stated that there would be no parallax error possible with a digital meter (this
would not be the case with an analogue meter). (1/1)

(e) The candidate is expected to recognise in part (i) that this is a series loop in which the current will
be the same throughout. In part (ii) the candidate is expected to give a reason why the readings may

differ slightly. This can only be due to a difference in the meters and not anything else in the circuit. This
candidate correctly suggested a zero error in the meter. (2/2)

Total mark awarded = 6 out of 6
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2 A student investigates the use of ammeters in a circuit.

(a) State the quantity measured with an ammeter. :

(b) Explain why it is important for an ammeter to have a low resistance.

So...thel... Cutint...conl. écwlf ][‘Jauj
Q.ﬂcj arﬂmtf Lan., T lasle... )‘ cevereeeeenmeeeesesssnsesseneneee[1]

(c) Fig. 2.1 shows an analogue ammeter.
4 A

+ O 05
O 0 A 1.0

Fig. 2.1
State the reading on the ammeter.

reading = Oé?l\[ﬂ

(d) A school has both digital and analogue ammeters.
Suggest one advaniage of using a digital ammeter rather than an analogue ammeter.

s veadibk.. %ﬂj—aﬂ GieA.. Aeunle. @mfmjm

(e) Fig. 2.2 shows a simple circuit.

Fig. 2.2

A student connects three similar ammeters at X, at Y and at Z. The ammeters. give slightly
different readings.

(i) Explain why all the ammeters should give the same reading.

Soddois. Az Sexien. Cirad].. ncl
Sﬁfﬂﬂ u((en?[ ]0 jau)s ........... lﬁ.djl.\..o.wt. %...SeG¢es..... r_;m.ui‘ ........

(ii) Suggest a reason for the slight differences in the three readings.

) T ... uned... o Cames..
J@aujbncg eee 800 e, ST S ammx:iér read% S agmﬁn

e i e sl i aasai
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(a) The quantity is correctly stated as current. (1/1)

(b) No mark is awarded here. The statement that the current can flow easily is not incorrect but it does not
define the relationship between current and resistance. (0/1)

(c) The scale was read correctly and the mark is gained. (1/1)

(d) Many candidates think (incorrectly) that digital meters are more accurate than analogue meters. A digital
meter is easier to read and therefore the candidate is less likely to err in taking a reading but this does not
mean that the instrument is more accurate. No mark awarded here. (0/1)

(e) The candidate gained the mark in part (i) for correctly identifying that the current is the same throughout
the series loop. However, the mark in part (ii) is not gained. The fixed resistor would have had the

same effect on all three ammeters. The difference can only be explained by a difference in the meters
themselves. (1/2)

Total mark awarded = 3 out of 6
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2 A student investigates the use of ammeters in a circuit.

(a) State thé quantity measured with an ammeter.
N D S e s s ersestsssssas st neremessstsssesssesssssnssnssarsees 1]

(b) Explain why it is important for an ammeter to have a low resistance.
s I.r E‘einq.'.a 'rf Lhe (Uvr?r\L ‘IJ 100 (‘ompcued L

Yhr r‘chStori\e . 'ihen ﬂ\('_.-g i l;e ne rencl:rlj

.[1]

(¢} Fig. 2.1 shows an analogue ammeter.

- N

+ O 0.5
O 0 i 1.0

Fig. 2.1

State the reading on the ammeter.

reading = MA

1]
(d) A school has both digital and analogue ammeters.
Suggest one advantage of using a digital ammeter rather than an analogue ammeter.
mofe.  accalake  Gnd  eosy o get rRadings. [1]

(e) Fig.2.2 shows a simple circuit.

Fig. 2.2

A student connects three similar ammeters at X, at Y and at Z. The ammeters give slightly
different readings.

(i) Explain why all the ammeters should give the same reading.
’|h| 5 IS“ bemo Jc the Some Current g

S‘Q{Qli‘lgd Jc‘b -U\G, ohele ﬁirfluit. . = (1]
(i) Suggest a reason for the slight differences in the three readings.

This is because the cc:rfen'h that oGent th(oug ly
R O PR =
fesister  fram  the boytery cohen tcmmj out “‘F[ﬁ‘ﬂ-‘"
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(a) This candidate has not understood the difference between a quantity and its unit. This error was not
unusual on this paper. (0/1)

(b) This response indicated a low level of understanding of the relationship between current and resistance.
(0/1)

(c) The correct answer only could gain the mark here. This candidate was close but the needle was clearly
halfway between 0.66 and 0.68 in the diagram so 0.67 A is the correct answer. (0/1)

(d) This candidate incorrectly thinks a digital meter is more accurate but goes on to explain that it is easy to
get the readings. This gets the mark for ‘easier to read’. (1/1)

(e) No mark is awarded in either part of this question. The candidate has a poor understanding of the circuit.
(0/2)

Total mark awarded = 1 out of 6
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3 (a} (iy normal correctat P [B1]
(ii} angler correct£1° B1]
(b} (iii) 2.8+0.1cm B1]
6.2 + 0.1cm unit required on at least one response
(v} 53+0.1(cm) B1]
8.2+0.1(cm)
{vi) 1.6 or ecf correct ratio calculated no unit B1]
(c} emergent ray drawn parallel to incident ray and labelled L B1]

[6]
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3 An experiment is carried out to investigate refraction of light through a-glass block.

Fig. 3.1 shows a rectangular glass block. A ray of light is incident at P at an angle of incidence of
40°. The angle of refraction in the block is 24°.

(a) On Fig. 3.1, draw lines to represent

(i) the normal at P, (11

(i) the refracted ray. 1
(b) The lower face of the block is labelled XY.

(i) On Fig. 3.1, continue the normal to meet XY. Label this point A.

(i) On Fig. 3.1, continue the line of the refracted ray to meet XY. Label this point B.
(i) Measure AB and PB.

AB= w88 N
PB = oo 800 N
(1]
(iv) - On Fig. 3.1, continue the line of the incident ray to meet XY. Label this paint C.
(v) Measure AC and PC,
- i N ?
AC= o DT N
PC= 082 87 e
(1
(vi) Theory suggests that the refractive index of tife.Jlass is given by the ratio
AC xR |
ARx PG
Calculate this ratio.
Give your answer to a suitablesiumb&r of significant figures.
§2x €9 N = |-56%
* " & [T58
A4 = g2
.35 Y RO = v BB 1]
22-9¢
(¢) On Fig. 8.1, drawaline to represent the ray of light that emerges from the block.
Label this line L. {1]
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glass block
Refrocded Koy
\ 3
Ly c
Fig.3.1 —
|

megal ecture@nuil . con

(a) The examiner is looking to see how well the candidate can obey a series of instructions. A sharp pencil
and a protractor are essential items here. This candidate correctly drew the normal and the refracted ray
within the allowed tolerance for the angle. (2/2)

(b) Again, the candidate needed to follow the instructions given and then make the required measurements
to the nearest 0.1 cm. A small tolerance was allowed in the expected measurements. Each measurement
should also have a correct unit. This candidate gained both marks here. In part (vi) the candidate is
expected to use his measurements and calculate a given ratio. He is also expected to give a suitable
number of significant figures in his answer. No unit should be seen as it is a ratio. This candidate correctly
calculated the ratio from his readings and gave the answer to 3 significant figures (2 or 3 were acceptable

here). (3/3)

(c) The candidate correctly drew a line to represent the ray of light emerging from the block. However, the
line was not labelled L as instructed. Unfortunately, this meant that the mark was not gained. (0/1)

Total mark awarded =5 out of 6
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3 An experiment is carried out to investigate refraction of light through a glass block.

Fig. 3.1 shows a rectangular glass block. A ray of light is incident at P at an angle of incidence of
40°, The angle of refraction in the block is 24°, : ;

(a) On Fig. 3.1, draw lines to represent

(i) the normal at P, (1]
(i) the refracted ray. (1]
(b) The lower face of the block is labelled XY.

() On Fig. 3.1, continue the normal to meet XY, Label this point A.
(i) On Fig. 3.1, continue the line of the refracted ray to meet XY. Label this point B.
(iii) Measure AB and PB.

(1]
(iv) On Fig. 3.1, continue the line of the incident ray to meet XY. Label this point C.
(v) Measure AC and PC.

AC = 52— B Yhem...
PC= .. % 2. 230 e
' (1]
(vi) Theory suggests that the refractive index of tv& glass is given by the ratio
AC x78
r AB.x PO

Calculate this ratio.
Give your answer to a suitabl¢ number of significant figures.

5 Y5 X 6-&5
SAX 645 Nygy 2-79%830
EPRA Y
fatio = ... == F S el [1]

(¢) On Fig. 3.1, drawsa)line to represent the ray of light that emerges from the block.

Label this line L. [1]
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glass block

(a) The candidate followed the instructions and his diagram was clear. Both marks awarded here. (2/2)

(b) The candidate continued to follow the instructions given and his diagram was good. However, it is
important, when taking measurements, that the recorded values are sensible for the instrument used.
It is not possible to record a length to the nearest 0.01 cm using a ruler. At best, the measurement can
only be made to the nearest half millimetre (0.05cm). Consequently the reading of 2.79cm for AB in
part (iii) meant that this mark was not awarded. In part (iv), the recorded values were to the nearest half
millimetre but the reading of AC = 5.45¢cm was outside the range allowed for this measurement so again
no mark was awarded. In part (vi) the candidate used his values to correctly calculate the ratio and gained
this mark. (1/3)

(c) The emerging ray was drawn correctly and labelled L, gaining this mark. (1/1)

Total mark awarded = 4 out of 6
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3 Anexperiment is carried out to investigate refraction of light through a glass block.

Fig. 3.1 shows a rectangular glass block. A ray of light is. mmdent at P at an angle of incidence of
40°. The angle of refraction in the block is 24°,

(a) On Fig. 3.1, draw lines to represent

(i) the normalatP, ' [1]
(i) the refracted ray. _ (1]

(b) The lower face of the black is labelled XY.

(i) On Fig. 3.1, continue the normal to meet XY ‘Label this point A,
(i) On Fig. 3.1, conunue the line of the refracted ray to meet XY. Label this pomt B.
(i) Measure AB and PB.

{(iv) On Fig. 3.1, continue the line of the incident ray to meet XY. Label this point C.
{v) Measure AC and PC.

A S iz Xlcm......
PC= Q-ACm..
. (]
(vi) Theory suggests that the refractive index of th glass is given by the ratio
ACx P83
ABx'RC
Calculate this ratio. .
Give your answer to a suitableAl:imbesof significant figures.
Acx PB [N T I 2L 1 1e77 5pig
—-___.-—-—-'-‘ -
A BxPC f 2:EXgQ.
f LT 5 VA A 1 |
(¢) On Fig. 3.1, drawsalline to represent the ray of light that emerges from the block.
Label this line L. o [1]
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Paper 4 Alternative to Practical

-~

[EVRRTR

glass block

Fig. 3.1

Examiner comment — grade E

(a) The candidate followed the instructions and his diagram was clear. Both marks awarded here. (2/2)

(b) The candidate lost marks here due to the inaccuracy of his measurements. In part (iii), the measurement
for AB was correct but the measurement for PB was out to tolerance, so no mark scored. Again in part
(iv), the measurement for AC was out of the allowed range so this mark was not scored. In part (vi), it is
the answer on the answer line that is marked when two possible answers are given. The ratio needed to
be given to 2 or 3 significant figures so the answer on the line of 1.577 did not score the mark. The answer
in the working of 1.6 would have been correct but this could not score. (0/3)

(c) The candidate did not draw an emerging ray so no mark scored. Candidates need to ensure that they have
answered all of each question. (0/1)

Total mark awarded = 2 out of 6
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4 (a) (i} (V=)Ixwxhseen B1]
7.6cmand 2.6cm and 1(.0)cm seen B1]
height or volume / 10 B1]
2.0cm?® cao unit required B1]

(ii} any one from B1]

makes thickness of one slide/height/volume/density/result more accurate
slides are thin

slides may vary in thickness

gives average value for thickness of one slide

(b} scales/balance B1]

[6]
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4  An experiment is carried out to determine the density of the glass used to make microscope slides.
Fig. 4.1 shows a stack of 10 microscope sfides.

Fig. 4.1 (not to scale)

Fig. 4.2 shows full-size views of the stack of microscope slides.

top view ||
e

R

Lo

Pr———

front view side view

Fig. 4.2 (full size)

(a) (i) By taking measurements from Fig. 4.2, determine the average volume of a microscope

slide. .
State clearly any measurements taken and show how the volume is calculated.

Give your answer to 2 significant figures.

volume! GQ ol -}Dcde’{\r\saf =2 Lxloxh
o z 1.6 %2.6x1

2 19. 76 em?

V4-76
yolwme oQ— onz —Tg

= 13‘1?6&“\3’ oy 10(’.1'\'13

volume.= r);,(I)(‘ﬁ'f'ha[d]

(ii) Explain why a stack of 10 slides is used rather than just one slide.
...j‘ai.s.....1.&......b.e.c;m&ei.....ftha.....&\ei?j‘u*;....o.&....un.e....éid&...fﬁ..:?@g..@&l%.m.l\;.
A trensufe.. esalking..in.. paso exX...200x...08...cosn.poed coitin. A2, sidef

(b) State any additional equipment needed to find the density of the glass.

Lleshronic. alance.. (50, measure.  mAS s {1]

Page 107 of 112

WWW.MEGALECTURE.COM

WWW. Vout ube. conml negal ect ure



what sapp: +92 323 509 4443, enmil: negal ecture@mail . con

(a) The candidate was expected to find the volume of a stack of ten microscope slides and then divide the
volume by 10 to get the volume of one slide, giving the answer to 2 significant figures. This candidate
showed the measurements and working clearly at each stage. The answer of 1.976 cm?® was then correctly
expressed as 2.0cm?® to 2 significant figures. All four marks scored. (4/4)

(b) In explaining why 10 slides should be used, the examiner is looking for the candidate to identify that the
height/thickness of one slide would be difficult to measure accurately using a ruler. This candidate gained
the mark here. (1/1)

(c) An electronic balance was correctly identified as the additional equipment to find the density of the glass.
(/1)

Total mark awarded = 6 out of 6
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4  An experimentis carried out to determine the density of the glass used to make microscope slides.
Fig. 4.1 shows a stack of 10 microscope slides.

Fig. 4.1 (not to scale)

Fig. 4.2 shows full-size views of the stack of microscope slides.

top view

M
A4

\\'\"" Llam

W

“front view side view ~
Lz Vbun %:l.bcw
‘Fig. 4.2 (full size)

(a) (i) By taking measurements from Fig. 4.2, determine the average volume of a microscope

slide.
State clearly any measurements taken and show how the volume is calculated.

Give your answer to 2 significant figures.

Wolls Lxbxh Lzl bom bz Lbom, \\o \low)

P

- -\_prl.g,x\-\ SUNESEINTSN DE_\Q’ gide Q=
) ' pA T A U
o N 1 & ._._Ll_o__.. =R
o R =02
\ <8 1o o B Sy Cm‘s , volume = Mj——‘C-""'\.“S[ﬂf]

(i) Explain why a stack of 10 slides is used rather than just one slide.

:Sw%tpx\e,,Q@QLQ%@Sm'al\'kae

.mgﬁ.ﬂ&’:.fﬁéz......mi\rl.......@&f O AN OLC AN 12X K1)
Ve \eSS CLvance ot efor 1a Xaline, SNeag,e.
(b) State any additional equipment needed to find the density of the glass. '
pelon

B.S.-..‘.o\e\f.\&'xsxg...a..D:}Q\.%.S;....;..S..?.’.g:ai........m&%........mem.eﬂ ..... b 2N
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(a) This candidate understood the principles required to answer the question and used the correct equation
to find the volume and gained the first mark. The measurement of the height of the stack was incorrect
so the second mark was not given. The candidate gained the third mark for dividing his volume by 10 but
the fourth mark was for ‘correct answer only’ so not given. (2/4)

(b) This answer was not precise enough to gain the mark. ‘One side’ could refer to any of the three lengths
measured. (0/1)

(c) The candidate correctly suggested a beam balance to find the mass and hence the density. (1/1)

Total mark awarded = 3 out of 6
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4 Anexperiment is carried out to determine the density of the glass used to make microscope slides.
Fig. 4.1 shows a stack of 10 microscope slides.

Fig. 4.1 (not to scale)

Fig. 4.2 shows full-size views of the stack of microscope slides.

D C
top view
A &
Q Gfront view (o) R ¢ side view A

Fig. 4.2 (full size)

(a) () By taking measurements from. Fig. 4.2, determine the average volume.of a microscope -
slide.
State clearly any measurements taken and show how the volume is.calculated.

Give your anewer to 2 significant figures. A LRV OER = 7-S+ 1-6 |7 55,

. - “’7«-6@"(\) 3 i
3@37‘5 ’ QQf_ 2.5. aAuoraye = 7;@_13—_;6: L4
AD = 26, MElL= W >

i L-\,)j
‘T:.
voQunmne = X

Voo F i ()” B
' - L e b S
UDQ U\"\n‘ﬂ@z - 5 volume = 756\4"’_]”‘3[4]

(ii) Explain why astack of 10 slides is used rather than just one slide.

Loons® sne sDide hayverd Qesy  velunie by
\")\"‘“Q\’\L\JQK‘-"M"WOtC)\QKQ"M\"\Q&Q“%W:}{1 ]

(b) State any additional equipment needed to find the density of the glass.

@Q‘:‘megﬁ&Qb‘jW\’“tth&Q e th E"husj[ﬂ

L o T T e, 5 i, e ! s, L 8 . 2 e 5 - o e
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(a) This candidate did not use the correct equation to find the volume and his measurements were not
correct. No marks could be awarded. (0/4)

(b) The candidate failed to understand why finding the dimensions of a single slide would be inappropriate.
(0/1)

(c) The beam balance was correctly identified here. (1/1)

Total mark awarded = 1 out of 6
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